H & 0l & AHS B Ml A

S =X
M 20t 22 22 Y N
ool 2OIRTA =X I8 X4

= 2! (ehol:®el)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SXE M 17,863,617 16,883,498 980,119
= 2,265,145
[ 2,012,673
Al 7,009,217
- 4,822,930
= 1,753,652
=)t 28 22l € N& 4,705,249 4,092,608 612,641
Al 2,369,520
- 659,929
= 1,675,800
=)t=3A =X Jgt &4 4,705,249 4,092,608 612,641
Al 2,369,520
- 659,929
= 1,675,800
=23 S AE A 7,470 7,530 260
201 er2 3| 2,770 2,740 30
01 AlR2telHl 770 740 30
Oo=xEd M 30,0002 * 18H 540
O2=E29 g %0 =22 M
230,000 *1H 230
03 A= 2,000 2,000 0
OE&It= AtlAL 2,000,000& 2,000
203 g4l 2,700 2,790 A0
03 A= H P2 2,700 2,790 A0
OSXEH AIX =& 2,700,000 2,700
301 EtE N = 2,000 2,000
11 dALEBIXNIE S 2,000 2,000
OE SIS PHlAL 2,000,000 2,000
=)t /5 & E22H XN 430,459 441,558 11,099
201 fer=2 3| 102,840 66,206 36,634
01 AtR2tc|HI 4,440 4,206 234
OE&32 23| 4,440
o Bt=ZH| 200,000 * 122 2,400
oHltl &z 30,000 »2CH =128 720
0E&23d R0FHl EF R
110,000& * 122 1,320
02 S3=gHl 64,400 62,000 2,400
OE&32 22l 5,200,000 122 62,400
O=&zl2 AIZ€&dl =Xl
2,000,000& 2,000
03 A= SHI 34,000 0 34,000
OB2TA BUS 9ist QLB Hs U 2
SHAHIE 14,000,000 14,000




2A:

u: 2| 2 2 Y X
el =okRSA =X I8 &4 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OE2HH 8HX =dl S A ISR
800,000 252 20,000
301 EtE2 NS 2,000 2,000
11 #AIAHIXIZ S 2,000 2,000
OB HAS 98t QBT 28 Y 2
SHMIE 2,000,000& 2,000
307 212+01& 324,500 361,012 N26,512
02 LB HANHEE 56,100 76,318 A20,218
O==HH Al X2 56,100,000 56,100
03 2N EE2SHIEX 268,400 258,694 9,706
OEsHH =gl X2 268,400,000& 268,400
405 KHoHF S| 1,119 1,119
01 ML ESFSHI 1,119 1,119
OFEsIZ AXWET 7
1,119,000& 1,119
Figsltsd £ M2AZS A2 2,229,000 2,079,000 150,000
Al 1,440,000
= 789,000
301 EtE NS 2,229,000 2,079,000 150,000
Al 1,440,000
= 789,000
14 IIEt2d3 2,229,000 2,079,000 150,000
OFVRBR +2 1,926,000
OBRDA 4T
150,000& %1,070F «12& 1,926,000
Al 1,284,000
= 642,000
OFHFSA AlgRIZ=
300, 000& *90H 27,000
Al 18,000
= 9,000
OFE=SA HILA =&
50,0002 x460H 122 276,000
Al 138,000
= 138,000
II2SUaA =8 € Aldfzs X 2,038,320 1,542,520 495,800
Al 929,520
- 222,000
= 886,800
301 2= 2,038,320 1,542,520 495,800
Al 929,520
- 222,000
= 886,800
14 0Bt 2a3 2,038,320 1,542,520 495,800




2A:

X XH -
o=

SXIF D
20t 28 2ol Y XY
o9l 2IIRBX =X Ol £

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=&l*=+¢ 100,000& *1,300E « 12& 1,560,000
Al 780,000
= 780,000
ORBTIRZ4Y
120,000& x 128« 122 184,320
Al 107,520
= 76,800
OSUKZN Yo+
120,000 x50 « 12 72,000
Al 42,000
= 30,000
OABMEX LY
50,0002 %2, 1502 *22 215,000
OSEHAT AZSIRS
200,000& »35H 7,000
AN2SR2E 2| 1,951,191 1,678,494 272,697
AN2IE2RE X2 1,951,191 1,678,4%4 212,697
AMSIZSLHME K (2-12H KIZO0I2A ) (HEALL) 1,951,191 1,678,4%4 212,697
301 Eet2 NS 1,951,191 1,678,4%4 212,697
0 M=SRRELEYS 1,951,191 1,678,494 272,697
(@=1¢ 1,000,000 x150F « 12& 1,800,000
OuEH| 3,2003 15021« 12 120,960
Ooul =l 335,900 +90H 30,231
NS Atel2E J|et &g 335,106 302,553 32,553
Al 77,130
- 257,976
KSAR 2 2d st 335,106 302,553 32,553
Al 77,130
T 257,976
KNSA 22 L EHIt 1,134 1,134 0
201 er23| 1,134 1,134
01 At2teltl 1,134 1,134
O} gzt 1,134
o KISAIEHAIE A+ K&
18,0003 *63% 1,134
KNSARI 2SN 2 165,072 161,289 3,783
Al 62,130
- 102,942
307 elztol & 165,072 161,289 3,783
Al 62,130
- 102,942
02 2B YAIHE £ 71,932 69,895 2,037
OXNSARI2ZEAN =24
71,932,000 71,932




2A:

SINESES I}

0 NG Alel2F Jlgt &g
&l NGAEI2E 8435t (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 16,600
T 55,332
03 2N EE=2SHIEx 90,140 91,3% A1,254
OXNS AR 2FE2AA 2l24t|
90,140,000 90,140
Al 45,530
- 44,610
04 QIZIHAIAIH E X 3,000 0 3,000
OXIGARIEEEAM U213
3,000,000& 3,000
S N2 ZE€AM 24 139,950 111,330 28,620
Al 15,000
- 124,950
201 er23y| 109,950 111,330 /1,380
01 AtR2t2|HI 109,950 111,330 1,380
OR+?d 23 NH 30,0002 *15& 450
OFI=E MH 15,0003 %100 1,500
Osl9 ey
30,0003 x20E 15 S+ 12& 108,000
307 elztol & 30,000 0 30,000
Al 15,000
- 15,000
1 AMISXAIEEXS 30,000 0 30,000
Os NSALIEZE 2N 2d3t
30,000,000& 30,000
Al 15,000
- 15,000
A2l SRIF=2t D18 A S X 22,500 22,500 0
307 elztol & 22,500 22,500
04 QIZHHAMAIRH 2 X 22,500 22,500
OAtI=XIS & J18 A & ARISKIZE
2 22,500,000& 22,500
NS X2 2tel 6,450 6,300 150
201 er2 3| 6,450 6,300 150
01 AtR2t2|HI 6,450 6,300 150
Olts&gel ZAHH A&
180,000 *5H 900
OUsaslles M & 2
700,000& *14]%22] 1,400
OSXH 22l 24 4,150,000& 4,150
SEARISXZ 22 & A3 4,235,499 4,103,858 131,641
Al 3,353,104
- 882,3%
SRS 2 23 4,235,499 4,103,858 131,641




SH: =NEMY
I ZEAE=XY 2g2el Y K
Chel: SEARIEXZ 29 (SH9 H2)
SN - B S(BH) - HBAY - BAS 0 &y e HIRS2
Al 3,353,104
- 882,39%
SEAIE=EX2E2Y XH 3,606,889 3,502,416 104,473
Al 3,164,222
- 442,667
307 QI2t01 ™ 3,606,889 3,502,416 104,473
Al 3,164,222
- 442,667
10 AFSISXIAIEEE2GHIEX 3,373,081 3,271,192 101,889
O A2 =X1& 2&d|
249,776,000& 249,776
Al 218,554
- 31,222
OBEAIZ =X 21|
3,123,305,000& 3,123,305
Al 2,741,086
- 382,219
11 Al SXIAIEE X 233,808 231,224 2,584
OFEARIs 2 T2 )32H|
233,808,000& 233,808
Al 204,582
- 29,226
SEAIZ S X2 SMAISHI 298,728 287,381 11,347
307 2I2t01 ™ 298,728 287,381 11,347
11 AMSISEXAIEEXR 298,728 287,381 11,347
OSEAIZ =X SMAISH|
298,728,000 298,728
SEAMI =R JIsEBE 197,974 199,896 N1,922
Al 98,987
- 98,987
402 QIZ2HR=201 ™ 197,974 199,8% N1,922
Al 98,987
- 98,987
02 QIIXHEAIE EZ(OIMTHE) 197,974 199,896 A1,922
OZEAEEXN 2 JIs82 197,974
o NMatE&AteI=X& ==Xl 3t EA
L et ZA} 37,000,000 37,000
Al 18,500
- 18,500
o HL-FEAISISX2 XIGIEZ 1A i
= 160,974,000 160,974
Al 80,487
-+ 80,487
SEAIE =X SAHA SHET] 85,749 63,874 21,875




A SXNEH
. SEAMeEXR 22l & XE
H°el: SRS 24 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 84,875
T 874
307 lztol & 85,749 63,874 21,875
Al 84,875
- 874
11 AMEISXAIEEXS 85,749 63,874 21,875
SEARISX2 SAL SXE+
16,475,000& 16,475
Al 16,475
OSEAEIFX2 SAHA S S8
6,000,000& 6,000
Al 6,000
OZEMIIZEXZ SAHA =2 & 2l
g 62,400,000& 62,400
Al 62,400
OSSAt2=X2 A SXIAL 2411 SH|
16,8003 %52 874
ENCIEENEE RS NS PSESRSIE b kel 700 1,000 2300
201 er=23y| 700 1,000 A300
01 AlR 22| 700 1,000 A300
O&STHTACIPIAS B Lo
100,0003 7 x13] 700
AR SRIAIE SAHAL A28 X 5,020 5,220 A200
Al 5,020
307 @120l & 5,020 5,220 A200
Al 5,020
11 AMEISXAEEXS 5,020 5,220 A200
OMEISXIAEL(SZ) SAL JHEER X
el 10,0003 #502 5,020
Al 5,020
Agetd2e| S 283 40,439 44,071 13,632
308 AtXIEMSOIH 40,439 44,071 A3,632
18 SIS0t & HAS A 40,439 44,071 A3,632
OAlgetd 2| SE ALY
40,439,000& 40,439
P E T Sy 48,884 46,744 2,140
Al 6,800
T 42,084
NASSI =2 48,884 46,744 2,140
Al 6,800
- 42,084
Seol X& 24,900 20,900 4,000
Al 6,800
- 18,100




S SXEBD
HEl: 20| M

=
Ciol. HASZIIEMEEE (el mg)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 20,500 16,500 4,000
Al 6,800
- 13,700
02 MR 2HASFS(HAAS, XLHE) 20,500 16,500 4,000
O=gel X (dzdl, Zabl, 2Hl, A&
C1:1p! 6,900,000 6,900
ORI & MASE 38&d X
800,000+ 174 13,600
Al 6,800
- 6,800
308 AHXIEMSOIH 4,400 4,400
18 SIS0t oA AS A 4,400 4,400
ORI AHA AMES 0]
4,400,000 4,400
e 1BIPH g8 23,984 25,844 1,860
201 fer=3| 23,984 25,844 1,860
02 s3=gHl 23,984 25,844 21,860
OsE2= & HA 23,984
oREEsEE 1,915,000& «12& 22,980
0SJIRd gEg 2,1003 %202+ 122 504
OMSEAMHIA EEZ 10&+50,000 500
MEI=X AMBIA 2 SHH 2 3,223,180 2,964,599 258,581
s 1,925,853
Al 648,885
- 648,442
KA MEIASAALS 2,591,45% 2,274,428 317,028
[ 1,814,018
Al 388,719
- 388,719
XNATEE MSIMHIA SXHAIS (Zel8]) 3,000 3,000 0
[ 2,100
Al 450
- 450
201 er2 3| 3,000 3,000 0
= 2,100
Al 450
= 450
01 At2tltl 3,000 3,000 0
OXIFAZI MHIA SXHAE S 24|
3,000,000& 3,000
= 2,100
Al 450
- 450
XSAXEE MBI MHIA SXEAF (A HI) 2,265,714 2,171,428 94,286




2A:
X XH -
o e

=aak

SINESES N}
AMESISX MHIA & A 2
KIGALSI MEIASE AALS

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,586,000
Al 339,857
- 339,857
307 @I2to| & 2,265,714 2,171,428 94,286
[ 1,586,000
Al 339,857
- 339,857
05 212t =S 2,265,714 2,171,428 94,286
ONIAIBIAHIA EXAY AA
2,265,714,000& 2,265,714
[ 1,586,000
Al 339,857
- 339,857
XA MIMHIA STAIS (FEDISAL TR ALY A,170 100,000 5,830
)
[ 65,918
Al 14,126
- 14,126
307 gl2to| & 94,170 100,000 A5,830
[ 65,918
Al 14,126
- 14,126
05 21t S 94,170 100,000 A5,830
OFHNISAHAS AN 94,170,000 94,170
= 65,918
Al 14,126
T 14,126
XA MIMHIA STAMS(LASSAEIA) 228,572 0 228,572
= 160,000
Al 34,286
T 34,286
201 er23| 10,000 0 10,000
= 7,000
Al 1,500
- 1,500
01 At22t2lt] 10,000 0 10,000
OLasSHHIA AH(EE)
10,000,000 10,000
s 7,000
Al 1,500
- 1,500
307 glztol & 218,572 0 218,572
s 153,000
Al 32,786




2A:
T ZH -
o e

=aak

SINESES N}
AMESISX MHIA & A 2
KIGALSI MEIASE AALS

RA - BE - SHAEH) - HRA - BAS ofl &t e DS
- 32,786
05 git?(& = 218,572 0 218,572
OZad=SsAHIA AL 218,572,000& 218,572
[ 153,000
Al 32,786
- 32,786
Akl 2tel 164,450 204,430 /39,980
[ 111,835
Al 26,307
- 26,308
SHS XY SEAMHIA XEH 148,050 148,050 0
= 103,635
Al 22,207
T 22,208
201 er23| 74,025 64,800 9,225
= 51,817
Al 11,104
- 11,104
01 AtR2t2lt] 66,825 57,600 9,225
OAtell2tel 23| 66,825,000& 66,825
= 46,777
Al 10,024
- 10,024
02 3224l 7,200 7,200 0
OBBE 0ISEMRS AI8E
40,000 x150H = 12 7,200
= 5,040
Al 1,080
- 1,080
301 LEIE NS 74,025 83,250 N9,225
s 51,818
Al 11,103
- 11,104
01 Al 2E A S(SRNEXMHE) 74,025 74,025 0
OAtI2elti &t At SXIAHIA X2
74,025,000 74,025
s 51,818
Al 11,103
- 11,104
AN SEAdI2el K& 14,000 14,000 0
= 7,000
Al 3,500
- 3,500




2A:

SINESES N}

B A=K MHIA L o1 2
Chel: Al 2el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 7,650 7,500 150
= 3,825
Al 1,912
- 1,913
01 At22telt] 7,050 7,500 A450
OAtell2tel 23| 7,050,000 7,050
= 3,525
Al 1,762
- 1,763
02 S52g4l 600 0 600
OBBE 0ISEMRS AI8E
50,000~ 1CH* 122 600
= 300
Al 150
- 150
202 04l 2,000 2,000 0
s 1,000
Al 500
- 500
01 =LHOLI 2,000 2,000 0
OSSAtIZeIAL BF £ 0|
2,000,000& 2,000
s 1,000
Al 500
- 500
301 LELEE S 4,350 4,500 A150
= 2,175
Al 1,088
- 1,087
01 Al EE AL S(FRDEXHA) 4,200 4,200 0
OAtdI 22l & At SXIAHIAXISH
4,200,000 4,200
= 2,100
Al 1,050
- 1,050
11 AALAEIXIES 150 300 A150
OX 0Pt EHSXAMEIAAMNY 2
150,000 150
s 75
Al 38
- 37
SIYAIBI0IN 29 2,400 2,400 0
s 1,200
Al 600




A SXEH
M A=A M-IA 2 A 2

Chel: Al 2el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 600
201 Zet=3hl 2,400 2,400 0
[ 1,200
Al 600
- 600
01 At2teltl 2,400 2,400 0
O &++IHHI0IN 2 2,400,000& 2,400
= 1,200
Al 600
T 600
SXIARXI & 35,698 38,198 22,500
SNARIAUE = 29 3,198 3,18 0
201 fer23| 3,198 3,198 0
01 AFR 22| 3,000 3,000 0
OSTARANN 22 2% 224l
3,000,000& 3,000
2 Ss2g4l 198 198 0
OIPI2E W2 MR &5z
16.5&%1,00000+ 1204 2 198
Hed SEEs 29 I 32,500 35,000 22,500
301 EtE NS 25,000 25,000 0
02 A2 XSG (FHAAHS, NSWE) 25,000 15,000 10,000
O=Rclsldl das=sAtlA N
500,000 309+ 15,000
OOt F=HEd HEHA
200,000& %507t 10,000
307 elztol & 7,500 10,000 A2,500
11 AMEISXAEEES 7,500 10,000 22,500
OMIt A22H 01 NEAL
250,000& %300+ 7,500
JFAE AAAME NE 390,452 404,308 13,85
Al 198,501
- 191,951
JIRAS AAAE X2 390,452 404,308 13,856
Al 198,501
- 191,951
307 212+01& 390,452 372,308 18,144
Al 198,501
- 191,951
11 AMEISXAEEES 390,452 372,308 18,144
OJI2AE M3 28X3
294,610,000& 294,610
Al 147,305
- 147,305




S SXHBD

M A=A M-IA 2 A 2

Rl JIRAS AN X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OIISAE MZIIR BAR SXFE
1,350,000 1,350
Al 1,350
OJIRAE MBI SALL 228 8H|
400,000 400
Al 400
OJI=AE HBII2 BAX 22
4,800,000 4,800
Al 4,800
OgsHFE0r 24X& 89,292,000 89,292
Al 44,646
T 44,646
SHSX=E A 26,000 23,000 3,000
Al 26,000
H0bl= SHHNEAMBIA XIE 26,000 23,000 3,000
Al 26,000
307 gl2to| & 26,000 23,000 3,000
Al 26,000
11 ABI= XA 2 X 26,000 23,000 3,000
ORODK= BLHEAIA T2
26,000,000& 26,000
Al 26,000
ARl eI & OSAF A 15,124 20,235 25,111
Al 9,358
- 5,766
Al QHRE0I ESAHIA K& 11,532 17,100 Ab,568
Al 5,766
- 5,766
201 er=2 3| 11,532 17,100 A5,568
Al 5,766
- 5,766
02 s3=gHl 11,532 17,100 25,568
OAl H2&01 SSAHIA 11,532,000& 11,532
Al 5,766
- 5,766
FHOUAES 2101 Ze|AAE AF(E5E20) 3,592 3,135 457
Al 3,592
201 et 3| 3,592 3,135 457
Al 3,592
02 S3=4gl 3,592 3,135 457
OF NS SDIIHY BRINAY PE(SS
=20) 3,592,000 3,592
Al 3,592
NASE dgord X2 3,060,064 3,420,294 A360,230




A SXNEH
M HASS M XY
el NASE 2s=K A (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 2,265,145
Al 510,368
- 283,143
= 1,408
NASE e85 A 3,060,064 3,420,204 360,230
= 2,265,145
Al 510,368
- 283,143
= 1,408
28=A 2,832,839 2,376,408 456,431
= 2,265,145
Al 283,143
- 283,143
= 1,408
201 el 1,408 1,408 0
= 1,408
01 AtR2tc|HI 1,000 1,000 0
OU==A U 2= =2l
1,000,000& 1,000
= 1,000
02 S3=gHl 408 408 0
ORUZER= 34,0002~ 122 408
= 408
301 eEtE N = 2,831,431 2,375,000 456,431
= 2,265,145
Al 283,143
- 283,143
01 Al EEABZ(2DEER) 2,831,431 2,375,000 456,431
O2g=Al X& 2,831,431,000& 2,831,431
= 2,265,145
Al 283,143
- 283,143
S0S 2IE2= Al 227,225 232,000 N4, T75
Al 227,225
301 22N 227,225 232,000 N4 TT5
Al 227,225
02 AR 2HHLFS(HAAS, XNLHE) 227,225 0 227,225
OS0S 21==Al 227,225,000 227,225
Al 227,225
HH2LZH(SXEFHD) 304,444 274,348 30,096
[ 86,820
Al 43,410

T 97,770




A SXNEH
Ho: HES A (=X
CHel: QIAR2AH|(SXIF D) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 76,444
SA2IHI(SXF ) 250,084 219,632 30,452
[ 86,820
Al 43,410
- 43,410
= 76,444
ol HH| NRAIH(SXIE 240 250,084 219,632 30,452
= 86,820
Al 43,410
- 43,410
= 76,444
101 @124H| 173,640 168,606 15,034
= 73,098
Al 36,549
- 36,549
= 27,444
03 SR (RIH )22+ 173,640 168,606 15,034
OSE At 2l At 2124
173,640,000 173,640
[ 73,098
Al 36,549
- 36,549
= 27,444
202 04t 6,600 5,880 720
= 3,300
Al 1,650
T 1,650
01 2LHoIH 6,600 5,880 720
OSEAtHIZEIAL SE 0]
6.,600,000& 6,600
= 3,300
Al 1,650
- 1,650
04 HSRESS 69,844 55,146 14,698
= 10,422
Al 5,211
- 5.211
= 49,000
M SRA(RIHL) 22X BEERE=3 S 69,844 55,146 14,698
OSEAtdlZelAt AN EEZ
20,844,000& 20,844
= 10,422
Al 5,211
- 5,211




SN SX™HD
M HYRAZH(SXFHL)
Cel: A HH|(SXF2DL) (CHe: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSEAtdIZ2IAL B &= 49,000,000 49,000
= 49,000
[E2ZH(SXE2) 54,360 54,716 A356
JlE2ZHl NSAS(SAE21) 54,360 54,716 A356
201 er23 | 28,680 29,036 A356
01 At2telt] 28,680 29,036 N356
Oget=ZH| 54,5002 x20E x 122 *90fh 1,792
OR£d 28| 180,000 122 2,160
o=l 8,0003 20 64 x 122 11,520
O=Xldgd 24| 3,207,600& 3,208
202 04| 17,280 17,280
01 SLHoIH 17,280 17,280
OO0l 10,0003 20E «8 + 122 9% 17,280
203 HE=H] 8,400 8,400
01 D[22 HRFa| 4,800 4,800
OJ|2=gg A 4,800,000 4,800
MU FA2SHIFII 3,600 3,600 0
ORAMEZE 2= 300,000+ 12 3,600




SN Al

Mz =0l

(= PN

H & 0l & AHS B Ml A

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AR 2E 1 56,953,524 50,125,869 6,827,655
= 50,229,836
[ 267,800
Al 4,145,550
- 2,280,338
= 30,000
=00|= 49,268,859 43,084,173 6,184,686
= 43,893,780
Al 3,500,109
- 1,844,970
= 30,000
INEn =PI cal 49,268,859 43,084,173 6,184,686
= 43,893,780
Al 3,500,109
- 1,844,970
= 30,000
3= 150,000 150,000 0
= 150,000
3 150,000 150,000 0
= 150,000
+0Z(FLEZME) 150,000 150,000 0
AR EbHg]
150,000,000 150,000
= 150,000
=] 48,313,856 42,055,458 6,258,398
= 43,482,470
Al 3,381,970
T 1,449,416
301 48,313,856 42,005,458 6,258,398
= 43,482,470
Al 3,381,970
- 1,449,416
01 AR 2EHSHS(RNEXRTHE) 48,313,856 42,055,458 6,258,398
48,313,856,000& 48,313,856
= 43,482,470
Al 3,381,970
- 1,449,416
MEsy= 30,854 30,778 76
308 AtXI 30,854 30,778 76
B 30,84 30,778 76
30,854,000 30,84
o &t 290,344 279,569 10,775
= 261,310




2A:

Hm: 20| ZMBRE 1
&l MASSIIZMEEE KR (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 20,324
T 8,710
301 EtE NS 290,344 279,569 10,775
= 261,310
Al 20,324
- 8,710
01 AR 2EHSHS(RNEXRTH) 290,344 279,569 10,775
Ol & &S0 290,344,000 290,344
= 261,310
Al 20,324
- 8,710
ST A2t 6,228 6,228 0
201 =3 3% 3%
2 s3234| 3% 3%
OSall 33,000~ 1CH* 122 3%
202 04l 5,832 5,832
01 =LHA LI 5,832 5,832
OSE XA EE0H]
10,0002 x9S 6 + 123 «90% 5,832
Ml SEH S5 N 150,804 150,804 0
301 LEtE NS 150,804 150,804
02 ANRI2HHSFS(HAAS, NLHE) 180,804 150,804
OMeD| SEH S5 A& 180,804
EIE=Y
3553 *5, 900AI CH*60H = 122 150,804
e AS NE 194,508 190,956 3,552
301 LEtE N = 194,508 190,956 3,552
02 MR 2HHLFS(HAAS, XLHE) 194,508 190,956 3,552
ONASE FOIAALHE L 2)|QULH
= 194,508,000 194,508
A=A g2 =X 2,000 2,430 A430
203 =] 2,000 2,430 A430
03 A=A 2= 2,000 2,430 2430
OAt2| 28 AIX =&l 2,000,000& 2,000
MASs =24l SU KA 34,900 36,180 21,280
Al 2,450
- 2,450
= 30,000
301 2eEN= 34,900 36,180 1,280
Al 2,450
T 2,450
= 30,000
02 ANRI2HHSHS(HAAS, NLHE) 34,900 36,180 ~1,280




2A: A

HH: 20| ZHEBY X
&l MASSIIZMEEE KR (SH &)
SN - ZB - C9(B) - MRAY - BES il &k e HlmS2
OMASE L2 ELl JEEE 2R3
30,000,0002! 30,000
= 30,000
OFAS Lol SU =ol=ga
4,900,000 4,900
Al 2,450
- 2,450
Clg=E etEAS 95,365 181,770 A\86,405
Al 95,365
301 LetEEZ 95,365 181,770 A86,405
Al 95,365
02 MBI 2EH>E S (FHUAHS, NSTHA) 95,365 181,770 A86,405
OLIgsE etEAS 95,365,000& 95,365
Al 95,365
KHE X R A 7,455,641 6,822,007 633,634
= 6,336,056
s 180,033
Al 623,499
- 316,053
HNASS K& X2 7,455,641 6,822,007 633,634
= 6,336,056
s 180,033
Al 623,499
- 316,053
22 4,893,361 4,521,837 371,524
= 4,404,025
Al 342,535
- 146,801
201 L2 | 1,000 0 1,000
= 900
Al 70
T 30
01 Ar2eltl 1,000 0 1,000
OXEAMNY EHA =S|
1,000,000& 1,000
= 900
Al 70
T 30
301 LetEEF 1,079,000 1,146,000 267,000
= 971,100
Al 75,530
- 32,370
01 MBI EEAG6Z2(2DEZTHA) 1,079,000 1,146,000 A67,000




SN MBI
33 A3 A
=@l MASE THE K2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SIEEEIEEEEST
1,079,000,000& 1,079,000
= 971,100
Al 75,530
- 32,370
307 elzto| & 3,813,361 3,375,837 437,524
= 3,432,025
Al 266,935
- 114,401
11 AMEISXAEEES 3,813,361 3,375,837 437,524
Oxg=z (el22E) 3,813,361,000& 3,813,361
= 3,432,025
Al 266,935
- 114,401
KNSR 2HE 29 447,007 424,722 22,285
= 312,905
Al 67,051
- 67,051
307 212+01& 447,007 424,722 22,285
= 312,906
Al 67,051
- 67,051
10 AlISXAZEHE 22X 447,007 424,302 22,705
OXg 2t 29 445,567,000 445,567
= 311,897
Al 66,835
- 66,835
O3JI18E)| gU= 1,440,000& 1,440
= 1,008
Al 216
- 216
A&t Abell2tel 31,477 30,707 770
[ 22,033
Al 4,722
- 4,722
307 el2tol & 31,477 30,707 770
= 22,033
Al 4,722
T 4,722
11 AMEISXAEEES 31,477 30,707 770
OXtE Atedl2tel 31,477,000& 31,477
= 22,033
Al 4,722




M MEIBED
IE: XXM
gelr MASS g N (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 4,722
5|2 E(job)Ot Z2HE 7,000 4,500 2,500
Al 7,000
307 el2to| & 7,000 4,500 2,500
Al 7,000
11 AMEISXAEEES 7,000 4,500 2,500
O3|2E(job)ot Z2HE 7,000,000 7,000
Al 7,000
KNS THAE AL S=28 =4 26,000 30,442 N4, 442
A 13,000
- 13,000
307 glztol & 26,000 30,442 N4, 442
Al 13,000
T 13,000
10 Al S XAIEHE 22X 26,000 30,442 N4, 442
OXAREBUESAR LB RH4Y
26,000, 0002 26,000
Al 13,000
= 13,000
XU SAR SXE+ 4,500 4,250 250
Al 4,500
307 21201 4,500 4,250 250
Al 4,500
1A= TAI 2 E 4,500 4,250 250
OXSTEHEEAIX 2XE
4,500,000 4,500
Al 4,500
KNSR HE SALA S EHl X2 2,200 1,400 800
Al 2,200
307 @201 & 2,200 1,400 800
Al 2,200
11 AMEISXAIEEE 2,200 1,400 800
ONSNBHE SAX ST X2
2,200,000& 2,200
Al 2,200
KNSXZLE SAHL SEH] & 2el k=g 17,520 10,800 6.720
Al 17,520
307 @I2t01 & 17,520 10,800 6,720
Al 17,520
10 Al SAAEEHE 22X 17,520 10,800 6,720
ONSTBHE SAR S| L 2Ix+
= 17,520,000 17,520
Al 17,520
NS HE SAEL AlZI=E 5,550 5,376 174




SN MBI
33 A3 A
gelr MASS g N (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 5,550
307 gl2tol & 5,550 5,376 174
Al 5,550
10 Al SXAEEHE2EHI 22X 5,550 5,376 174
ORISR ME SAR A2telag
5,550,000& 5,550
Al 5,550
ZesEAsTsMHE=s8NE 1,794,312 1,587,973 206,339
= 1,619,126
Al 125,564
- 49,622
308 AFAIEHMSOIE 1,794,312 0 1,794,312
= 1,619,126
Al 125,564
- 49,622
183 S| 2SO ZB XA AIE 1,794,312 0 1,794,312
O2zsaU=L+INoLLSN
1,794,312,000& 1,794,312
= 1,619,126
Al 125,564
- 49,622
)IIQX}%@ ABIAHIA SXAIE (OFARIE S 2 X2 ALY 225,714 200,000 25,714
= 168,000
Al 33,857
- 33,857
308 AtXIEHMSOIE 225,714 0 225,714
[ 158,000
Al 33,857
- 33,857
18 SIS0t HAS A 225,714 0 225,714
OIHE L EER0IALE
225,714,000 225,714
[ 158,000
Al 33,857
- 33,857
NG £~ 2= PNk 1,000 0 1,000
201 fer=3| 1,000 0 1,000
01 AtR2t2|HI 1,000 0 1,000
OXHZEALY CHMH I RIZ 1,000,000& 1,000
HH2IBHI(A22F 1) 229,024 219,689 9,33
= 87,767
Al 21,942
T 119,315




SN ASIRID
M HAPAZHI(AZI2ZED)
CHol: D22 (AFEIR R D) (ool )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=228 (AlsI2& 1) 54,925 53,124 1,801
Jl23Hl HIRA (ASI2F 1) 54,925 53,124 1,801
201 er23| 37,105 36,364 1,741
01 At2teltl 36,709 34,968 1,741
Oget+=ZHI 54,5002 x312 » 12«00 18,277
Ozl 8,000 x32&H +6A!x 12 18,432
02 s3=gHl 3% 3% 0
oS4l 33,0003~ 1CH =122 3%
202 04| 12,960 12,960
01 2LHoIH 12,960 12,960
OO0l 10,0003 20«62+ 122 9% 12,960
203 HRP=H] 4,860 4,800 60
M A2 LRFAI 4,860 4,800 60
ORANEgg =AY 405,000+ 122 4,860
oIH2ALI (AR 2 ) 174,099 166,565 7,534
[ 87,767
Al 21,942
- 64,390
QIS NSAIL (KSR AE A 40,138 38,232 1,906
101 @124H| 40,138 38,232 1,906
03 SRH(RIH )22 U2+ 40,138 38,232 1,906
OBRA2Z2IHTEE) 40,138
oJlZ2=s 2,129,830 128 25,558
oA=& 19,8603 x20Al 2H= 123 4,767
o ZHZAHI 140,000~ 12 1,680
o BEFIHI 2,555,800& 2,556
CRSiPN A=y 105,910 »15& 1,589
od2=¢ 638,950 23] 1,278
0 E0H 120,000& «12& 1,440
odIasdiia 62,5002 122 750
o JtE=¢ 40,0002 122 480
o MIE&AHI 20,0002 *23] 40
QIA2EH NMRAIS (ST SHZCIAL) 133,961 128,333 5,628
= 87,767
Al 21,942
- 24,252
101 21AH| 133,961 128,333 5,628
[ 87,767
Al 21,942
- 24,252
03 SRH(RIH )22 U2+ 133,961 128,333 5,628
OSRAZZNE=> 133,961,000 133,961




od
i’
o
uJ

-

KIO

Hlw

MEE
Ofl &k2h

Ofl &F2H
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87,767
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24,252

Al
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- SRA(E) - HIRAY

S - B




H & 0l & AHS B Ml A

FA I OoNel 1t
Hu: LoI=N| B
oSl UEE LoI=X AHIA X (crel: g)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
L OIZOH Q! 1t 185,722,679 167,087,860 18,634,819
= 110,214,900
[ 1,417,425
Al 41,749,002
- 31,158,534
= 1,182,818
OISk X 112,860,716 105,363,507 7,497,209
= 72,221,030
s 1,349,427
Al 22,378,406
- 15,794,492
= 1,117,361
SEY =K MHIA X2 105,890,297 98,321,755 7,568,542
= 70,915,030
s 1,349,427
Al 19,363,659
- 13,642,161
= 620,020
DIESUI=gN=, 101,008,611 93,350,548 7,668,063
= 70,706,028
Al 18,181,550
T 12,121,033
301 EtE NS 101,008,611 93,350,548 7,658,063
= 70,706,028
Al 18,181,550
- 12,121,033
01 AR 2EHSHS(RNEXRTHE) 101,008,611 93,350,548 7,658,063
OFJESIE NI, 101,008,611,000& 101,008,611
= 70,706,028
Al 18,181,550
- 12,121,033
Iz ALY XIE 280 1,180 A900
201 2egh=3| 280 1,180 A900
01 At2t2lt] 280 1,180 A900
OJIx=d= 01AMEARS AR+
70,0002 x4 +13] 280
COISXIAEIA € X3 4,150 4,650 2500
201 fer23y| 1,150 1,150 0
01 AtR2t2|HI 1,180 1,180 0
Okololg REA HEE M
30,0002 %15 450
ORHa E4+E 70,0002 x5 #23] 700
203 HR=H] 3,000 3,500 A500




FA I OoNel 1t
mm: Lol=y| A
oSl UEE LoI=X AHIA X (crel: g)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 A=A RN 3,000 3,500 A500
Ol HHel AIZ =& 3,000,000& 3,000
SHCC A XZ0l A 2,000 2,000
307 el2to| & 2,000 2,000
1 AMEISXAIEEXS 2,000 2,000
O2sAtgdaty XIat| 2,000,000 2,000
ArEel oty E XIE 107,584 107,512 72
Al 53,792
- 53,792
301 2eEN= 20,770 23,650 A2,880
Al 10,385
T 10,385
02 MBI 2HEHSFHS(HAANS, XLHE) 20,770 23,650 2,880
Ot E J1D1 Al 20,770,000& 20,770
Al 10,385
- 10,385
307 @120l & 86,814 83,862 2,952
Al 43,407
- 43,407
11 ARRIS XA E X 86,814 83,862 2,952
Oty ZE SAHIZ 82,764,000 82,764
Al 41,382
- 41,382
Ot E JPDI==cl S &cldls
4,050,000& 4,050
Al 2,025
- 2,025
LOIEEESAHIA K 1,927,753 1,830,824 96,929
[ 1,349,427
Al 289,163
- 289,163
307 gl2to| & 1,927,753 1,830,824 96,929
[ 1,349,427
Al 289,163
- 289,163
11 MEISXAEEXS 1,927,753 1,830,824 96,929
Ol Es=sMEIANA
1,927,753,000& 1,927,753
[ 1,349,427
Al 289,163
T 289,163
COIHESSABIA SAL MR 9,670 6,150 3,520
Al 9,670




2A:
X XH -
o e

=aak

-

& 0H21 0t
L

g L= MHlA X

O 1 I
i o o

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 9,670 6,150 3,520
Al 9,670
11 ARRIS XA E X 9,670 6,150 3,520
O QX EZSSMHIA SAHL SXE+
250,000 +7& 1,780
Al 1,750
O IStESSAHIA SAHA SEHLBA
bl XI& 200,000& +6& 1,200
Al 1,200
OLQRESEABIA SAK S|
6,720,000 6.720
Al 6.720
HeEF =& ol & Hofe! X 2,890 3,258 368
Al 2,890
301 LEtE NS 2,890 3,258 N368
Al 2,890
02 ANRI2HHHS(HAAS, NLHE) 2,890 3,258 368
OWEEE 47 Lol U Zojel N
2,890,000 2,890
Al 2,890
=58 S Ns 365,000 540,000 A175,000
Al 182,500
- 182,500
307 lztol & 365,000 540,000 A175,000
Al 182,500
T 182,500
11 AMEISXAEEES 365,000 540,000 A175,000
Ogtd St X2
100,000%+3,650H 365,000
Al 182,500
- 182,500
colths 24 K& 38,000 38,000 0
Al 19,000
- 19,000
307 212+01& 38,000 38,000 0
Al 19,000
T 19,000
10 Al2IS XA EEE 22X 38,000 38,000 0
okollisr =24 XN& 38,000,000& 38,000
Al 19,000
- 19,000
ded A& 135,899 219,325 83,426
201 ger=3| 120,358 174,440 AH4,082
01 AtR2te|H] 97,448 128,922 A31,474




A R==t P10 ReTi
mm: Lol=y| A
Sl QEE OIS AHIA X2 (SHol: )
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
OZ=zd d=J| gxtg
22,0002 #1700 A+ 122 44,880
OZ=g oot Xtz
48,708,000 48,708
OZ2E =[] Met HE= 1,100,000 1,100
Odzg U= (HZZ2Y) 2,760
0d&EE Sz 700,000&3 *1JH A+3 2,100
0Z2L Xt KIS
220,000 » 1) A+32 660
02 S3=2g4l 22,910 45,518 A22,608
OZ2g HSE Bl
60,0002 * 1574 A+13] 900
OFRY ®IIQHACA4E
70,000& %1574 2+12] 1,050
OZzg IIF € AIE2EHIRXIE2==H|
10,000,000 10,000
OZ2E delHlole sXZ==
3,960,000& 3,960
Ogdzg 42| & KA+
200,000 *357H A 7,000
301 2N = 15,541 14,885 656
02 AR 2R GIZ(FHAAE, RLTHR) 15,541 0 15,541
O3zg &N 55 XN& 15,541
o 100m* 0] gt 6833 *47JH 280K+ 123 3,082
0200m* 0|2t 6833 *80H A= * 100K+ 123 6,557
0200m 0l &f 6833 #4801 A+ 150+ 123 5,902
424 2% XN(EZAY) 1,132,368 1,103,258 29,110
Al 296,982
T 296,982
= 538,404
201 L2 121,248 117,578 3,670
Al 60,624
T 60,624
01 At22teltl 78,004 75,166 2,838
Oo3dzg 3I1¥38I| Sz XN&E
58,204,000 58,204
Al 29,102
- 29,102
OZ2¢g ¢A(A=)H X
50,0003 %334 2+ 123 19,800
Al 9,900
T 9,900
02 324l 43,244 42,412 832
OZ2g FF2H01T0l £X AIEE X
23,1003 15601 2+ 123 43,244




FA I OoNel 1t
mm: Lol=y| A
ol WEE LoI=X| AHIA XY (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 21,622
T 21,622
307 elztol & 1,011,120 985,680 25,440
Al 236,358
- 236,358
= 538,404
10 Al2IS XA EEE 22X 1,011,120 985,680 25,440
OF2RY 2YHI(AHIRZE)
1,011,120,000& 1,011,120
Al 236,358
- 236,358
= 538,404
J2g dutddl & =8 X 463,420 449,576 13,844
= 209,002
Al 104,501
- 104,501
= 45,416
301 EetE2 N = 163,020 160,376 2,644
= 61,602
Al 30,801
- 30,801
= 39,816
01 A2 HSHS (22X 163,020 160,376 2,644
OoZzd 2= N2 163,020,000 163,020
= 61,602
Al 30,801
- 30,801
= 30,816
307 @120l & 300,400 289,200 11,200
= 147,400
Al 73,700
- 73,700
= 5,600
10 Al2ISTIAIEEE 22X 300,400 289,200 11,200
OZ2¢g dutadl X2 300,400,000 300,400
= 147,400
Al 73,700
- 73,700
= 5,600
2 0It23 Ag X3 453,422 431,374 22,048
Al 208,611
- 208,611
= 36,200




FA I OoNel 1t
mm: Lol=y| A
oSl UEE LoI=X AHIA X (crel: g)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 453,422 431,374 22,048
Al 208,611
- 208,611
= 36,200
10 Al2ISTIAIEEE 22X 40,985 37,442 3,543
OL0eX3 d2Y =2 X208 22Xk
24 X2 40,985,000 40,985
Al 19,893
- 19,892
= 1,200
11 AMEISXAEEES 412,437 393,932 18,505
OF=2Y 0I2E BRI
377,437 ,000& 377,437
Al 188,718
- 188,719
OB2Y HIIEs 243t
35,000,000& 35,000
= 35,000
NESANEE ESHl N2 204,000 201,600 2,400
301 EetE2 NS 204,000 0 204,000
4Bt 2as 204,000 0 204,000
OXNESAN =™ gsHl X
100, 0002 x 122 %1700 2 204,000
Y ez ESAE XI¥ 5,250 5,250
201 el 5,250 5,250
01 Al222lH] 5,250 5,250
OF2Y oINS 2|
5,250,000& 5,250
Mg B2 24 30,000 30,000 0
Al 15,000
- 15,000
401 AlZHIZ SO 20,000 20,000 0
Al 10,000
- 10,000
01 Al&HI 20,000 20,000 0
OZ2¢g sZHet| 20,000,000 20,000
Al 10,000
- 10,000
405 AHaHE = 10,000 10,000 0
Al 5,000
- 5,000
01 ML ESFSHI 10,000 10,000 0
OoZzd =3 78 A& 10,000,000 10,000
Al 5,000




A =QIE0HRI Dt
mm: Lol=y| A
oSl UEE LoI=X AHIA X (crel: g)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
| | T 5,000
QIZHALRI EH X & O K& 98,574 94,29% 4,278
Al 4,000
- A,574
OIZFASI SRl SUAAFE X & 98,574 A,2% 4,278
Al 4,000
- A,574
307 QI2HOl A 98,574 HA,2% 4,278
Al 4,000
- HA,574
02 QIRHHAAIHE X 9,550 15,915 A6,365
Olgt=0ls| H=72X3 &M XA
9,550,000& 9,550
03 QIIHHHE2HHIEX 63,504 53,361 10,143
OUgteols H=7X5 23|
59,504,000& 59,504
OUgt=0lg| QIMBAAl H=2 X3 2|
A& 4,000,000& 4,000
Al 4,000
1 ASI=SXAIEEES 25,520 25,020 500
OZ=z9 & 244l N& 17,000,000& 17,000
OF2Y % Y38 29
8,520,000& 8,520
CSME OHFEDIB =Y 952,309 94,184 A1,875
Al 441,778
- 441,778
= 68,753
2A2AlY 22g4l X2 677,543 683,490 Ab5,947
Al 304,395
- 304,395
= 68,753
307 QI2H0| A 677,543 683,490 25,947
Al 304,3%
- 304,395
= 68,753
11 ASI=SXAIEEE 677,543 683,490 25,947
OBZAY 2234 Al
677,543,000& 677,543
Al 304,395
- 304,395
= 68,753
NS MAS MOLECl AMAHE 186,550 177,450 9,100
Al 93,275
- 93,275




FA I OoNel 1t
mm: Lol=y| MM
Helr S48 otFEDIg 24 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 186,550 177,450 9,100
Al 93,275
- 93,275
11 AMEISXAIEEXS 186,550 177,450 9,100
ONSZB HAS Mol A
186,550,000 186,550
Al 93,275
- 93,275
COIRESA AMEDI2 ZHIEZAIE 7,000 14,000 A7,000
Al 3,500
- 3,500
402 QI2F X201 & 7,000 14,000 A7,000
Al 3,500
- 3,500
02 QI A2 AL EE(0IETHE) 7,000 14,000 AT7,000
O gA! A2 FHIEZALY
7,000,000 7,000
Al 3,500
- 3,500
fEEH =8I 215 K& 81,216 79,244 1,972
Al 40,608
- 40,608
307 glztol & 81,216 79,244 1,972
Al 40,608
- 40,608
1 AMEISXAEEXS 81,216 79,244 1,972
OSEIA 287|201 X
81,216,000& 81,216
Al 40,608
- 40,608
LoISXAE 29 2,524,143 2,749,968 N225,825
= 1,306,000
Al 1,150,203
- 67,940
LZAE 2 X2 (HEAY) 742,497 679,194 63,303
Al 742,497
307 elztol & 742,497 679,194 63,303
Al 742,497
10 Al2ISTIAEEE2HIEX 742,497 679,194 63,303
OLQRRAZAIE X
742,497,000 742,497
Al 742,497
FRAZANE SMHL SXNE=+ 3,600 3,850 A250
Al 3,600




FA I OoNel 1t
mm: Lol=y| A
&t LoISIAE 29 (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 3,600 3,850 A250
Al 3,600
11 ARRIS XA E X 3,600 3,850 A250
ORBYZAIL BAX SXES
3,600,000 3,600
Al 3,600
FESUZAIE SAA SEH € 2= 13,680 9,600 4,080
Al 13,680
307 el2to| & 13,680 9,600 4,080
Al 13,680
11 AMEISXAEEES 13,680 9,600 4,080
OR2ARAIE BAK S2H L 2T+
g 13,680,000 13,680
Al 13,680
LZAIE SAHA BEAH2Z A X (HLHA) 1,200 1,400 A200
Al 1,200
307 @120l & 1,200 1,400 A200
Al 1,200
1 ABI= XA 2 E 1,200 1,400 200
OYRAIE BAR ZEALBEY X2 (K
SHA) 1,200,000 1,200
Al 1,200
7= Algeletel YAAE 2| K 1,306,000 1,306,000 0
= 1,306,000
307 21201 & 1,306,000 1,306,000 0
= 1,306,000
10 Al SXAAEEHE 22X 1,306,000 1,306,000 0
OAZESEAE 2 1,306,000,000& 1,306,000
= 1,306,000
ANelSE=SA 22 SAL SXEs 6,925 7,050 A125
Al 6,925
307 212+01& 6,925 7,050 A125
Al 6,925
1 AMEISXAIEEXS 6,925 7,050 A125
OAESE=R 2 SAL SXNE+
6,925,000 6,925
Al 6,925
AZelSHEe 2 SAHL S8 XA 2,400 2,600 2200
Al 2,400
307 glztol & 2,400 2,600 A200
Al 2,400
11 AMISXAIEEX 2,400 2,600 A200
OAtZelSEe|2t SAH SEAZZ 8| X
el 2,400,000 2,400




FA I OoNel 1t
mm: Lol=y| A
&t LoISIAE 29 (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 2,400
AN SIS 2 SAL S88 & 22k=g X2 26,160 16,800 9,360
Al 26,160
307 el2to| & 26,160 16,800 9,360
Al 26,160
11 AMEISXAEEES 26,160 16,800 9,360
OAtgeISE=N 22 SAHL S & 2
clit=g A& 26,160,000 26,160
Al 26,160
LOIQAANLE 2H(SAX) 288,343 479,208 A190,865
Al 288,343
307 @120l & 288,343 479,208 190,865
Al 288,343
10 Al SXAIEEHE2EHI 22X 288,343 479,208 190,865
OLQIQAANE 2H (SR
288,343,000 288,343
Al 288,343
Mool SXAIE X3 (S2AK) 125,056 120,000 5,05
Al 62,528
- 62,528
307 elztol & 125,056 120,000 5,05
Al 62,528
- 62,528
10 AlISXAZEE 22X 125,056 120,000 5,05
OMItcol SXAIE X (SAX)
125,056,000 125,056
Al 62,528
- 62,528
MO QIZEXIAIE (SAKXE) SALA S X &= 550 550 0
Al 550
307 @I2t01 & 550 550 0
Al 550
11 AMEISXAIEEXS 550 550 0
OMIH-ASIAE (SAR) SXNEH
550,000 550
Al 550
Mot QISXAlE SeAdd88H NS 400 0 400
Al 400
307 212+01& 400 0 400
Al 400
1 AMISXAEEXS 400 0 400
OMIIt=RISXIAIE SetAZZ 8| K&
400,000& 400
Al 400




FA I OoNel 1t
mm: Lol=y| A
&t LoISIAE 29 (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
IO ISXIAIE (SN SAK S0 & 2l it = 1,920 1,200 720
ct
Al 1,920
307 212+01& 1,920 1,200 720
Al 1,920
1 AMISXAIEEXS 1,920 1,200 720
OMIH-ISIIAE (SAR) SAHA SEHI
2 2elkt =¢ 1,920,000& 1,920
Al 1,920
COISXAE 838 & XH 2,052 2,5% 2504
202 048l 1,29 1,296 0
01 2L AL 1,296 1,296 0
OLC=XAIE SEXZTA K|
10,0002 x2& 6L * 122 x00% 1,296
307 212+01& 756 1,260 A504
11 AMEISXAEEES 756 1,260 A504
OLeI=XAIE En=H| X3
16,8002 ~45& 756
ligeia 29 2 3,360 3,360
201 er2 3| 3,360 3,360
01 AtR2t2|HI 3,360 3,360
IRYIE 248 2cl
70,0008 x4 %123 3,360
LRI0I=EA 23 K& 3,395,393 3,243,304 152,089
Al 1,418,766
- 1,548,039
= 428,588
A IsX2 249 X 1,400,124 1,332,065 68,059
Al 685,457
- 687,377
= 27,290
201 er2 3| 1,920 1,920
02 S3=4gl 1,920 1,920
O3BANEE HHE8d+ra
960,000 23] 1,920
307 @I2t01 & 1,398,204 1,290,635 107,569
Al 685,457
- 685,457
= 27,290
10 AlISXAZEE 22X 1,398,204 1,290,635 107,569
Oueolsi2 23|
1,398,204,000& 1,398,204
Al 685,457
- 685,457




FA I OoNel 1t
mm: Lol=y| A
el =2100I=X 28 A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| % 27,29
Fetol=sA2 28 A 705,025 706,087 1,062
Al 315,048
- 315,047
= 74,930
307 gl2to| & 705,025 706,087 1,062
Al 315,048
- 315,047
= 74,930
W EE N EEEEEEES 705,025 706,087 A1,062
OFet-oI=RT 2|
705,025,000 705,025
Al 315,048
- 315,047
= 74,930
sxolsX2 29 X 1,061,404 1,095,102 A\33,698
Al 362,706
- 380,290
= 318,408
307 elztol & 1,043,820 1,095,102 Ab1,282
Al 362,706
- 362,706
= 318,408
10 AlRISTIAIEEE 22X 1,043,820 1,095,102 Ab1,282
O& =2 24|
1,043,820,000& 1,043,820
Al 362,706
- 362,706
= 318,408
401 Al HIZL 01| 16,390 16,390
01 Al&H| 16,390 16,390
O=d g=3A 16,390,000& 16,390
405 KHoHF S| 1,194 1,194
01 ML ESFSHI 1,194 1,194
OU2IBRARXID] DAl 398,000 3CH 1,194
LOISX2 SAA SXE 10,950 10,950 0
Al 9,350
= 1,600
307 212+01& 10,950 10,950 0
Al 9,350
= 1,600
11 AMEISXAEEES 10,950 10,950 0




FA I OoNel 1t
mm: Lol=y| A
el =2100I=X 28 A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OLoI=RZ (o4 88, 55) BAK =X
8= 10,950,000 10,950
Al 9,350
= 1,600
COISAZ SAHL SgAZZ & X2 3,200 5,200 A2,000
Al 2,600
= 600
307 212+01& 3,200 5,200 A2,000
Al 2,600
= 600
11 AMEISXAEEES 3,200 5,200 22,000
OL Q=T T(I4T HEH &) BAR 8
A2 Z &8 X 3,200,000& 3,200
Al 2,600
= 600
CoIsA2 S8 & 22N+ E A 41,040 27,000 14,040
Al 35,280
= 5,760
307 212+01& 41,040 27,000 14,040
Al 35,280
= 5,760
11 AMEISXAEEES 41,040 27,000 14,040
OLQI=X2 SA S8l & 2l K=
HRMA) XA 41,040,000 41,040
Al 35,280
= 5,760
HEdl QAL 2E8 HIIESAIY 10,400 10,400 0
Al 5,200
- 5,200
307 21201 & 10,400 10,400 0
Al 5,200
- 5,200
11 AMEISXAEEES 10,400 10,400 0
O0i24l QIZFAIE 288t OIIESAtE
10,400,000 10,400
Al 5,200
- 5,200
d=et el ss2Y A2 6,250 6,500 A250
Al 3,125
- 3,125
307 @12t01 & 6,250 6,500 A250
Al 3.125
- 3,125
11 AMEISXAEEES 6.250 6,500 2250




2A:

L=
mm: Lol=y| A
e =elopi=EA 28 X3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O#=s ol24l 2= K
6,250,000& 6,250
Al 3,125
- 3,125
Heegl EOINA 2 87,000 45,000 42,000
201 et 3| 87,000 0 87,000
01 At 22|l 43,000 0 43,000
Od+=7 Lolnd JUS
42,000,000 42,000
Oggt =ZH| 1,000,000& 1,000
2 s5=34l 15,500 0 15,500
Os&ER= € MA 13,700,000& 13,700
OAIE2ZEBI= X 1,800,000 1,800
03 A2 I 28,500 0 28,500
OFA==g 28,500,000 28,500
et ol=X2 5= 0l 70,000 0 70,000
401 Al HIZL 01| 70,000 70,000
01 Al&H| 70,000 70,000
O=AlZeHEHE B 70,000,000 70,000
colgitel 28,767,905 19,166,031 9,601,874
= 13,444,332
Al 7,085,453
- 8,238,120
colgiiel ¥& 28,767,905 19,166,031 9,601,874
= 13,444,332
Al 7,085,453
- 8,238,120
Colxiel & AMSESXE U (=AARIES XIZA 26,448,804 17,383,790 9,065,014
2)
= 12,749,202
Al 6,428,601
- 7,271,001
101 @124H| 1,282,480 1,313,650 A31,170
= 641,240
Al 320,620
- 320,620
M ORNZZ2NSE S 1,282,480 1,313,650 A31,170
OLQIMEES KA (FET =8 Q12|
s) 1,282,480,000& 1,282,480
= 641,240
Al 320,620
- 320,620
201 er23 | 35,190 34,400 790
= 17,595




SN LoIZ0felD
M colgitel
Rl =l Riel 2E EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 8,797
T 8,798
01 At2tltl 19,550 17,200 2,350
OLQIAzEs XIJAMS (FAT =8 2]
s) 19,550,000 19,550
= 9,775
Al 4,887
- 4,888
03 A= SHI 15,640 17,200 1,560
OLQABIEE NS (TRE L 23188
AH) 15,640,000& 15,640
= 7,820
Al 3,910
T 3,910
307 el2tol & 25,131,134 16,029,290 9,101,844
= 12,090,367
Al 6,099, 184
T 6,941,583
11 AMEISXAEEES 25,131,134 16,029,290 9,101,844
OLQIAZES KIJAIE (=3I 2t)
24,288,734,000& 24,288,734
= 12,090,367
Al 6,099, 184
T 6,099,183
O QA A 2EIAF Q12AH| =IHAIE
842,400,000 842,400
Colgitiel & ASIESKIY SH(dXte dgel 1,436,410 980,118 456,292
(O12HHl) X&)
= 695,130
Al 393,715
- 347,565
307 gl2to| & 1,436,410 980,118 456,292
= 695,130
Al 393,715
- 347,565
10 Al SXAAEEHE 22X 1,436,410 980,118 456,292
Oolgixte] Agel=t(DI2tM) 11|
1,390,260,000& 1,390,260
= 695,130
Al 347,565
- 347,565
Ooldiie] AgdZ(O12EM) MM (=5
XE=) 8,750,000 8,750
Al 8,750




SN LoIZ0felD
M colgitel
Rl =l Riel 2E EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oolgdxie] MgAH(O2EM) MRM(S
gAA &l 3,800,000& 3,800
Al 3,800
OLoIURIZ FERIS(JIZHH) MM (2
2Hl) 33,600,000& 33,600
Al 33,600
colgiel gl 249 X 761,511 607,953 153,558
Al 218,242
T 543,269
307 elztol & 761,511 607,953 153,558
Al 218,242
- 543,269
10 Al SXAAEEHE 22X 705,807 602,673 103,134
wolnizl YR 2|
691,357,000 691,357
Al 176,024
= 515,333
OwoliRtel MR BAX HRIMH (=
INESE) 2,850,000 2,850
Al 2,850
OolgXte] dYI|2 SAHR MHE(S
gAA L) 800,000 800
Al 800
OLoIgRtel MYIIZ BAR MM (2
2Hl) 9,600,000 9,600
Al 9,600
Okolgditel g2 22|k =&
1,200,000 1,200
Al 1,200
1 AMISXAIEEX 55,704 5,280 50,424
OAZEE At (ABIHH) AP
50,536,0002 50,536
Al 25,268
- 25,268
OdZAILIN HusZZ )8 2|
5,000,000& 5,000
Al 2,500
- 2,500
OAL2|S XA E4=11=H]
16,8002 %10 168
ol —O |2 A 2E K2 86,970 77,600 9,370
Al 44,895
T 42,075
307 elztol & 86,970 77,600 9,370
Al 44,895
- 42,075
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SN COIFORQI D
. ZU=XAE Setacl & X3
Rl ZOHI=SXIAIE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OBMLIAFAIL 912
30,0002 x 12512 3,750
307 gl2to| & 1,865 2,067 A202
1 AMISXAIEEXS 1,865 2,067 A202
OAtIS XA E4=1=H] XA
16,800& x111&*12] 1,865
HUI=XAE 22 10,470,126 9,869,005 601,071
= 3,013,711
[ 67,998
Al 6,047,954
- 1,284,803
= 55,660
ST SsAHELEAMEIA 2SI 135,99 76,986 59,010
= 67,998
Al 33,999
- 33,99
307 @I2to| & 135,99 76,986 59,010
[ 67,998
Al 33,99
= 33,999
1 ABI = XIAL X 135,99 76,966 59,010
OFOOl S2LEeMEIA 2% Xe
135,996,000 135,99
[ 67,998
Al 33,99
- 33,999
ST SsAALEAMEIA SAL SXNE+ X2 500 500 0
Al 500
307 glztol & 500 500 0
Al 500
11 AMRISXAEEES 500 500 0
OSSTMe SSAHLEAMHIA SAHAL =
A8+ K& 500,000 500
Al 500
ST SSAHALEMEIA SAHA S22 ST 200 400 2200
A&
Al 200
307 gl2to| & 200 400 A200
Al 200
11 AMEISXAEEE 200 400 A200
O SSAHLEAMHIA SALAL S
gAZ A&l X2 200,000 200
Al 200
ST SSAHNMLHMHIA SAEL S XA 1,920 1,200 720




SN COIFORQI D
. ZU=XAE Seacl & X3
Rl ZoHISXAIE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,920
307 gl2tol & 1,920 1,200 720
Al 1,920
11 AMEISXAEEES 1,920 1,200 720
O SSAHLEAMHIA SAHAL 2
gl A& 1,920,000& 1,920
Al 1,920
ZOHRIAFAIE 2 K& 3,829,742 3,654,879 174,863
= 2,680,820
Al 1,148,922
307 elztol & 3,829,742 3,654,879 174,863
= 2,680,820
Al 1,148,922
10 MEISXAAEHE2EHIE2X 3,829,742 3,654,879 174,863
OQEOMLUNFAE 2 XA
3,829,742,000& 3,829,742
= 2,680,820
Al 1,148,922
ZOHRIAFAIE NEHSE2ISBAIY X 20,000 20,000 0
Al 10,000
- 10,000
307 elzto| & 20,000 20,000 0
Al 10,000
- 10,000
11 AMEISXAIEEXS 20,000 20,000 0
OO HFAIE NEMEZZ DAL
& 20,000,000& 20,000
Al 10,000
- 10,000
O H=AIE SIIEED| dlg X 2,160 4,320 2,160
= 1,296
Al 864
307 elzto| & 2,160 4,320 A2,160
= 1,296
Al 864
1 AMEISXAEEXS 2,160 4,320 2,160
OFMIAHFAIE SI1FE)| elE X&
2,160,000 2,160
= 1,296
Al 864
ZOHRIAHFAIE SAMA SXE8s & SEAZ28H] X 28,550 28,250 300
!
Al 28,550
307 21201 & 28,550 28,250 300




2A:

. ZU=XAE Seacl & X3
Rl ZoHISXAIE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 28,550
11 AMEISXAEEXS 28,550 28,250 300
OZOMRUAHFAIE BAA SXE> & FE
A2H 8l X 28,550,000& 28,550
Al 28,550
ZOHUATFAIE SAA =28 166,618 179,845 13,227
Al 166,618
307 lztol & 166,618 179,845 N13,227
Al 166,618
11 ARRIS XA E X 166,618 179,845 N13,227
OHMUHFAIE SALL 28|
166,618,000 166,618
Al 166,618
ZOHRIHZAIE SAHA 28| & 22l Ai==E 72,240 45,000 27,240
Al 72,240
307 elztol & 72,240 45,000 27,240
Al 72,240
11 AMEISXAEEES 72,240 45,000 27,240
OZONQUAHFAIE SALA S| & 22|kt
=g 72,240,000 72,240
Al 72,240
ANEYAY RS 2HEH| 32,638 32,638 0
Al 16,319
T 16,319
307 glztol & 32,638 32,638 0
Al 16,319
- 16,319
1 AMEISXAEEES 32,638 32,638 0
OAlZe A RE AL 2+EH|
32,638,000 32,638
Al 16,319
- 16,319
ZOHRIHFAIE (0T AIZE SSAE 228 X 304 304 0
= 213
Al AN
307 elztol & 304 304 0
= 213
Al AN
1 AMEISXAEEXS 304 304 0
OZOANFAIE 0T AIZE SSAIE 23|
A& 304,000 304
= 213
Al 91
O HFAIE JISEH 534,100 222,662 311,438




2A:

. ZU=XAE Seacl & X3
Rl ZoHISXAIE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 267,050
Al 267,050
402 QIF X201 & 534,100 222,662 311,438
= 267,050
Al 267,050
02 QI A2 AL E R (0IHTHE) 534,100 222,662 311,438
OZMANFAIE JIS2S
534,100,000 534,100
= 267,050
Al 267,050
SO JHRIM DAIE 29 91,206 88,154 3,002
Al 45,603
- 45,603
307 elztol & 91,206 88,154 3,062
Al 45,603
- 45,603
10 AlISIIAIEEE 22X 91,206 88,154 3,052
OFOie! JHelAl DAY 29
91,206,000& 91,206
Al 45,603
- 45,603
O SHIOIHFAIE 2 523,090 501,146 21,944
Al 261,545
- 261,545
307 glztol & 523,090 501,146 21,944
Al 261,545
- 261,545
10 AlIS XA E 22X 523,090 501,146 21,944
OO EDIHF=AIE 29
523,090,000 523,090
Al 261,545
- 261,545
SO EHIIHFAIE SAA =2XE 2,700 2,700 0
Al 2,700
307 elzto| & 2,700 2,700 0
Al 2,700
11 AMEISXAEEES 2,700 2,700 0
OO SIIHFAIE SAL SXE =+
2,700,000& 2,700
Al 2,700
ZOHR! EDIHFAIE SAL SEA22 84| X 800 1,200 A400
Al 800
307 @120l & 800 1,200 A400
Al 800




2A:

. ZU=XAE Seacl & X3
Rl ZoHISXAIE 29 (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
11 AMEISXAEEES 800 1,200 2400
OOl EIIHFAIE SAHAL Setdd3d
Bl XI& 800,000 800
Al 800
ZOHe! EIIHFAIE SAHL SEHI 9,600 6,000 3,600
Al 9,600
307 21201 & 9,600 6,000 3,600
Al 9,600
11 AMEISXAIEEXS 9,600 6,000 3,600
OFOHl SIIHFAIE SALL SEHI
9,600,000 9,600
Al 9,600
el ssdEIHE =29 331,340 365,686 N24,346
Al 165,670
- 165,670
307 gl2to| & 331,340 365,686 N\24,346
Al 165,670
- 165,670
10 Al SXAEEE 22X 331,340 365,686 N24,346
OH0NY ZEMEIE 29
331,340,000 331,340
Al 165,670
- 165,670
el SSYEIE SAL SXE =+ 1,400 1,500 A100
Al 1,400
307 212+01& 1,400 1,500 A100
Al 1,400
1 AMISXAEEXS 1,400 1,500 A100
OZONO! TEMEIIE BAT SXHL
1,400,000& 1,400
Al 1,400
ZIOHQ! SSMEIIE BSALL SEAZAEH XF 600 800 2200
Al 600
307 elztol & 600 800 A200
Al 600
11 ARRIS XA E X 600 800 A200
O SSHEIE SAHAL Sgdd3d
bl XI& 600,000 600
Al 600
Q! SSHUEIE SAHA =& 4,800 3,000 1,800
Al 4,800
307 elztol & 4,800 3,000 1,800
Al 4,800
11 AMEISXAEEES 4,800 3,000 1,800




2A:

. ZU=XAE Seacl & X3
el U= XIAE =29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OBl ZEMEIIE SAK 2
4,800,000& 4,800
Al 4,800
JHU=SXAIE AAUEE HIE X2 90,186 44,676 45,510
307 lztol & 90,186 44,676 45,510
11 AMEISXAEEES 90,186 44,676 45,510
ORdUE3 HI8 X 90, 186,000 90,186
ZoHel XM (IL)AE X 211,306 211,306 0
= 64,332
Al 75,287
T 71,687
307 elztol & 211,306 211,306 0
= 64,332
Al 75,287
- 71,687
10 AlRIS XA EEE 22X 211,306 211,306 0
OZopel NEd&(IL) JE X
211,306,000 211,306
= 64,332
Al 75,287
- 71,687
il Nddy & FH(HMES) SAL SXE 2,250 2,300 A0
Al 2,250
307 21201 & 2,250 2,300 A50
Al 2,250
11 AMEISXAIEEXS 2,250 2,300 A50
OTOH! NHSMSHE X FEH(HMES) SA
A =X 8= 2,250,000 2,250
Al 2,250
ZOHe! TtHMSHE o =E(HES) SALL S22 1,200 1,200 0
ddd| X
Al 1,200
307 glztol & 1,200 1,200 0
Al 1,200
11 AMISXAIEEX 1,200 1,200 0
OSSHMATHLEEHE - MEE SAHL
Sz adl & 1,200,000 1,200
Al 1,200
il MPdeF(HEE) 29 53,162 51,852 1,310
Al 26,226
- 26,936
307 212+01& 53,162 51,852 1,310
Al 26,226
- 26,936




2A:
X XH -
o e

=aak

ZOHRAI=XAIE S22 € K&
FUI=XAIE 29

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 AMEISXAEEES 53,162 51,852 1,310
OZojel Hede=s(MEs) 22 N
53,162,000& 53,162
Al 26,226
- 26,936
el g EFH(HES) 2 N 154,400 149,400 5,000
Al 154,400
307 elztol & 154,400 149,400 5,000
Al 154,400
11 AMEISXAEEES 154,400 149,400 5,000
OFopel eIt (MEE) 29 X
& 154,400,000 154,400
Al 154,400
=2 24 1,903,582 1,838,609 64,973
Al 1,903,582
307 gl2to| & 1,903,582 1,838,609 64,973
Al 1,903,582
10 Al2ISXIAIEEE 22X 1,837,282 1,770,809 66,473
oue=si2 24 1,837,282,000& 1,837,282
Al 1,837,282
11 AMEISXAEEES 66,300 67,800 A1,500
OHUI=sA2 SSHMHL NS XE
35,400,000& 35,400
Al 35,400
O HA=X2t SALL SXE=
8,900,000& 8,900
Al 8,900
O =X2t SALL S8 8H| XI&
2,200,000 2,200
Al 2,200
OZHLI=X 2t SAHL SH| & 22Xt
g 19,800,000 19,800
Al 19,800
e =UESAIE 2 896,302 843,882 52,420
Al 624,765
- 271,537
307 212+01& 896,302 843,882 52,420
Al 624,765
T 271,537
10 Al2IS XA E 22X 869,402 816,482 52,920
OO ZAFSAL 22
869,402,000& 869,402
Al 597,865
- 271,537




2A:

. ZU=XAE Seacl & X3
Rl ZoHISXAIE 29 (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
11 AMEISXAEEES 26,900 27,400 A500
O F=UESAIE SAL SIS+
6,300,000& 6,300
Al 6,300
O FUESAIE SAHAL Setdd3d
Bl XI& 2,000,000& 2,000
Al 2,000
Ol FUHESAIE SAHA SEH & &
clt=& 18,600,000 18,600
Al 18,600
T8 YHeIFUESAIE 2 418,303 384,810 33,493
Al 181,322
T 181,321
= 55,660
201 et 3| 40,860 40,860 0
= 40,860
01 At2teltl 40,860 40,860 0
O—7E Hifel=AE2sdH LU=
40,860,000 40,860
= 40,860
307 elztol & 377,443 343,950 33,493
Al 181,322
- 181,321
= 14,800
10 Al2IS XA EEE 22X 377,443 343,950 33,493
OFE =AU ES AL 2|
377,443,000 377,443
Al 181,322
- 181,321
= 14,800
ol MAMMEAE 2 551,436 433,671 117,765
Al 539,436
- 12,000
307 el2to| & 551,436 433,671 117,765
Al 539,436
- 12,000
10 AlRISXAZEE 22X 518,386 424,621 93,765
Ol MNAHEAL 2F K&
518,386,000 518,386
Al 518,386
1 AMISXAIEEXE 33,050 9,080 24,000
OZO0HQ HAMEAIE SAL SXNE+
2,250,000 2,250
Al 2,250




2A:

. ZU=XAE Seacl & X3
Rl ZoHISXAIE 29 (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
Ol ANAHEAIE SAHAL Setdd3d
Bl XI& 800,000& 800
Al 800
OHONQ MATHEAIL BAX S L 2
clit=g ,000,000& 6,000
Al 6,000
OHMHAXNATHEAIL =S Bis=+2
A& 24,000,000 24,000
Al 12,000
- 12,000
oSl MIOtSAME =29 197,845 193,9% 3,849
Al 197,845
307 lztol & 197,845 193,99 3,849
Al 197,845
10 Al SXAEEE 22X 195,145 190,696 4,449
O MHIt=XHEH 29
195,145,000 195,145
Al 195,145
11 AMISXAIEEX 2,700 3,300 A600
OFOL! THI=XIHE SALA SXE 4+
900,000 900
Al 900
OFHe! MIIISXIHE SAHL SEHI
1,800,000& 1,800
Al 1,800
ZoHe! SEESAE A 199,650 192,910 6,740
Al 101,650
- 98,000
307 @I2t01 & 199,650 192,910 6,740
Al 101,650
- 98,000
10 AlRIS XA EEE 22X 196,000 189,310 6.690
Ol SE2EAE 28
196,000,000 196,000
Al 98,000
- 98,000
1 AMISXAIEES 3,650 3,600 50
O SEZ2SAME SAL SXNE+
1,050,000& 1,050
Al 1,050
Ol SEZEAY SAHL St 3 d
] 200,000 200
Al 200
O SE2SAME SAAL =8I
2,400,000 2,400




2A:

. ZU=XAE Seacl & X3
el U= XIAE =29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| 1] Al 2,400
Zopel =X & 33,525,920 32,598,892 927,028
= 21,521,037
Al 6,229,794
- 5,775,089
el SXAIE £X1 &8 105,806 186,572 N80,766
Al 34,967
- 70,839
ol MEFAS EHI 34,440 34,440 0
201 er23| 34,440 34,440
01 At2t2ltl 14,040 14,040
OBONQIFERICHS BDE HA
632 20, 0000H 1,260
OZ ARSI EX MZ
990& *2,0000H 1,980
Ol HEFI7Y 2 AR ARES
& 10,800,000 10,800
2 35234l 20,400 20,400 0
OLlths RVR= 1,700,000& 122 20,400
ol He X 1,692 1,692
201 er=23y| 1,260 1,260
01 AtR2t2|HI 720 720
OBAIE EXl 2sE
30,0003 * 100 A x2H % 1204 & 720
2 S52g4l 540 540 0
OZ33x2= € HAl 45,0002 x1CH* 122 540
202 04l 432 432
01 =LHA LI 432 432
OBMNIBINE ASHO| U FXEHS
10,0002 x 12 x4 L« 122 %90% 432
S E2H S| 72> 3,750 2,000 1,750
Al 1,375
- 2,375
201 =3 1,000 2,000 21,000
2 S52g4l 1,000 2,000 21,000
OS2 &I RANE+
200,000 574 2 1,000
405 AHatE = 2,750 0 2,750
Al 1,375
- 1,375
01 ML ESFSHI 2,750 0 2,750
OFOMHAMSERID| S| 4X
2,750,000 2,750
Al 1,375




of
i’
oF
uJ

-

KIO

Hlw

1,320

1,320
1,320

4,706
4,706
4,706
1,960

2,746
807,706

1,300
1,300
1,300

MEE
Ofl &k2h

64,604

64,604
64,604

82,878
82,878
82,878
52,585
30,293

30,623,576

560
560
560

980
980
980

Ofl &F2H

1,375
65,924
33,592
32,332
65,924
33,592
32,332
65,924

64,664
32,332
32,332
300
300

Al
Al
Al
Al

960
960
87,584
87,584
87,584

54,545

Al

54,545
33,039
33,039

31,431,282

5,702,284
5,124,123

20,604,875

Al

1,860
1,860
1,860

1,860

980
980
980

- ESS

- SRA(E) - HIRAY

S - B

30
OB

J—

w
=)
]

KO
a

ol

KO

64,664,000
300,000&

|SXIAt

3

11 Ak

307 212t01&

or

KO

BJ

960,000

&

EHHEAH KX

A+2]

t

33,039,000&

54,545,000

307 212+01™

~J

ol

0fr
E

Bd

<r

ol
o
]
oJ

oJ

KO

01 At22te|bl

7l

ok

[

1,860,000

30
U

o}
[

Ok
Hr

oJ

KO

17,414,739 364,563

980

17,779,302

12,443,160

2,606,391

2

70,0003 *7 B2

01 AFS2t2ltl




SN COIFORQI Dt
. ZOje =X S8
Chel: ZOHQlMEOrA X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 2,669,751
201 er23y| 3,360 3,360
01 AtR2t2|HI 3,360 3,360
o=y ENEEE L IEE RN
70,0002 x4 x123] 3,360
308 XXM SOIA 17,775,942 17,411,379 364,563
= 12,443,160
Al 2,666,391
- 2,666,391
13 SI[2S0HE & EAS A 17,775,942 17,411,379 364,563
OIS XIE At
17,775,942,000& 17,775,942
= 12,443,160
Al 2,666,391
- 2,666,391
ZOHAUESKIE IHHEH 375,342 140,009 235,333
= 262,740
Al 56,301
- 56,301
308 AHAIEHMSOIE 375,342 140,009 235,333
= 262,740
Al 56,301
- 56,301
18 SIS0t HAS A 375,342 140,009 235,333
OZasXa Hetat
375,342,000 375,342
= 262,740
Al 56,301
- 56,301
ST AIFIH 2SXE 1,070,000 1,143,620 NT3,620
Al 535,000
- 535,000
308 AFAIEHMSOIE 1,070,000 1,143,620 AT3,620
Al 535,000
- 535,000
13 S [2S0tHet 34 A AS A 1,070,000 1,143,620 AT3,620
O=SHM AFI 2K
1,070,000,000& 1,070,000
Al 535,000
- 535,000
ZISST0Q 24A12E ESKIE 88,000 86,020 1,980
Al 44,000
- 44,000
308 AtXIEHMSOIE 88,000 86,020 1,980




SN COIFORQI Dt
2 Zoiel =X S
Rl HOHQIME Y X (St &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Al 44,000
- 44,000
13 I 2 S0IeHE &R S AL 88,000 86,020 1,980
OZISEER 24A12F BSKIH
88,000,000 88,000
Al 44,000
- 44,000
HOHQIESXIZ AL SEAZZEH X 48,000 56,000 A8,000
Al 48,000
307 212+01 A 48,000 56,000 A8,000
Al 48,000
11 AL SXAMEE X 48,000 56,000 A8,000
OO ESKIZAL S22 & X2
48,000,000& 48,000
Al 48,000
ZoHel EXD1D0] ue 12,500 12,500 0
= 10,000
Al 1,250
- 1,250
301 LB F 12,500 12,500 0
= 10,000
Al 1,250
- 1,250
01 A BEAH 2 (RREETHA) 12,500 12,500 0
O&Oel X010 W2 12,500,000 12,500
= 10,000
Al 1,250
- 1,250
el dsEHF HEEE It X2 12,240 0 12,240
Al 6,120
- 6,120
201 L2 | 12,240 0 12,240
Al 6,120
- 6,120
02 32| 12,240 0 12,240
O MsEa7 882828 Jte KA
12,240,000 12,240
Al 6,120
- 6,120
ZOHQISXIAIE SE2MAE M 5,825 2,831 2,99
201 B2 AY| 5,825 2,831 2,994
01 AtR2telt] 5,825 2,831 2,994
OISR E22 HH
5,250,000 5,250




SN COIFORQI Dt
. ZOje =X S8
Chel: ZOHQlMEOrA X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAZEeIE HAt 2= M
575,000& 575
gofelis =0 A= 6,322,659 6,439,851 ANT7,192
= 4,425,861
Al 948,399
- 948,399
301 EtE N = 6,322,659 6,439,851 AN7,192
= 4,425,861
Al 948,399
- 948,399
01 AR 2EHSHS(RNEXRTH) 6,322,659 6,439,851 ANT7,192
OFAH= 6,322,659,000& 6,322,659
= 4,425,861
Al 948,399
- 948,399
=== (01x) X2 1,185,3%4 1,284,122 A\98,768
= 829,748
Al 248,924
- 106,682
301 2= 1,185,3%4 1,284,122 N98,768
= 829,748
Al 248,924
- 106,682
01 Al EE A S(FRNEXMA) 1,185,3%4 1,284,122 A\98,768
OJI=Z =< 1,185,354,000& 1,185,3%4
= 829,748
Al 248,924
- 106,682
Z= (X S) NS (HHots+=Z1LE) 462,319 546,732 AN\84,413
= 323,623
Al 97,087
- 41,609
301 LEetE N = 462,319 546,732 A\B4,413
= 323,623
Al 97,087
T 41,609
01 A2 HSFS(RNEERTHE) 462,319 546,732 N\84,413
OXYAZ NS (HotS+=E 2 E)
462,319,000 462,319
= 323,623
Al 97,087
T 41,609
SSTMALEAH S xS 311,411 309,711 1,700




od
i’
o
uJ

-

KIO

Hlw

1,700
1,700

54,146
54,146
54,146

A500

H
ol &y

10,093

309,711
309,711

10,093

10,093

62,657
62,657
62,657

2,500

Ofl &F2H

311,411
311,411
311,411
311,411
311,411
311,411

10,093

Al
Al
Al

5,047
2,523
2,523
10,093
5,047
2,523
2,523
10,093

i

Al

i

10,093
5,047
2,523
2,523

116,803
93,443
23,360

116,803
93,443
23,360

116,803

116,803
93,443

23,360

Al

i

Al

2,000

- HyS

S - B

311,411,000&

- SRA(E) - HIRAY

10,093,000

116,803, 000&

o
[uins

2|

ol

2|

-
=

o
[uind
[=)

HA|

O&ofelelz gl X

OHQIS| = HIXI

308 At

PNy
=}

o

.

A500
2,000

1,052

2,500
5,800

1,000
1,000
2,000
1,000
1,000
2,000
2,000
1,000
1,000
4,748
2,374

Al
Al
Al
Al

2,000,000




SN COIFORQI Dt
. ZOje =X S8
Chel: ZOHQlMEOrA X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 2,374
301 EtE NS 4,748 5,800 1,052
Al 2,374
- 2,374
02 ANRI2HHFS(HAAS, NLHE) 4,748 5,800 A1,052
OZO0iQ! SOl A 2HEHEI| X
4,748,000 4,748
Al 2,374
T 2,374
ZULSES HEHHS ALY 12,606 12,034 572
Al 6,303
- 6,303
308 AHAIEMSOIE 12,606 12,034 572
Al 6,303
- 6,303
183 S| 2SO ZB XA AIE 12,606 12,034 572
OZMHASFES HEHS A
12,606,000& 12,606
Al 6,303
- 6,303
HEZ0H SLHISXIA 6,000 6,000 0
= 4,200
Al 900
- 900
301 LELE NS 6,000 6,000 0
= 4,200
Al 900
- 900
01 Al 2E AL S(FRNEXME) 6,000 6,000 0
Ooig&oiel EatHIE X2
6,000,000 6,000
= 4,200
Al 900
- 900
UTHE MBI A BIRH X2 (ZO0H0tS MHEXIZ) 1,238,405 708,000 530,405
= 866,883
Al 185,761
- 185,761
308 AtXIEHMSOIE 1,238,405 708,000 530,405
= 866,883
Al 185,761
- 185,761
183 S| 2SO &HAEAIE 1,238,405 708,000 530,405
OZ0iots Mexlz 1,238,405,000& 1,238,405




SN COIFORQI Dt
. ZOje =X S8
Chel: ZOHQlMEOrA X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 866,883
Al 185,761
- 185,761
SIHEEXE IR ALY 4,381 2,160 2,221
= 3,067
Al 657
- 657
308 AtAIEHMSOIE 4,381 2,160 2,221
= 3,067
Al 657
- 657
183 S| 2SS AEAIE 4,381 2,160 2,221
OoEEXH A 4,381,000 4,381
= 3,067
Al 657
- 657
LEHR e SAHIA 1,057,235 1,639,245 /482,010
= 739,281
Al 158,417
- 159,537
201 er2&| 1,120 1,190 AT0
01 At2teltl 1,120 1,190 AT0
OYE I F2ESABIL =AY
3 29 70,0002 x1& %123 840
Oggel FLasAHA MSI12 XE
aofds =29 70,0008 x4 H*13] 280
308 XXM SOIA 1,056,115 1,538,005 481,940
= 739,281
Al 158,417
- 158,417
13 SI[2SOHe & EAS A 1,056,115 1,538,005 A\481,940
OLROR! FASEAHIA
1,056, 115,000 1,056,115
= 739,281
Al 158,417
- 158,417
LEEONQ AIFIF F2HESAHIA 199,266 199,266 0
Al 99,633
T 99,633
307 glztol & 199,266 199,266 0
Al 99,633
- 99,633
02 2IZHBYAIHE A 199,266 199,266 0
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2A:

. ZOje =X S8
Chel: ZOHQlMEOrA X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ogadel IasdXE A
97,800,000& 97,800
Al 48,900
- 48,900
ZoHe! MHEH2MEES 79,160 64,040 15,120
Al 42,080
- 37,080
307 212+01& 79,160 64,040 15,120
Al 42,080
- 37,080
11 AMEISXAEEES 79,160 64,040 15,120
ORASHL MBHBALS 23
74,160,000& 74,160
Al 37,080
= 37,080
OFfQIMBAS ¥ 2|
5,000,000& 5,000
Al 5,000
ZOHISXIMHIA et X 605 240 365
201 Zet=3h] 405 240 165
01 Al 22| 405 240 165
OBONI=X SBA EEHE M
405,000& 405
301 LELEE S 200 200
11 dALREIXIE S 200 200
OBOKQI & SA £0{E |
200,000 %1 200
ZESS LEYMY =2 15 LU X NE 238,928 0 238,928
= 167,250
Al 35,839
T 35,839
308 XXM SOIA 238,928 0 238,928
= 167,250
Al 35,839
- 35,839
13 S [2S0tHet 4 A AS A 238,928 0 238,928
OzISE LEZM =2t 115 LU Bt2
X X 238,928,000 238,928
= 167,250
Al 35,839
- 35,839
XSS L2 2k g €U XA 228,820 0 228,820
= 114,410
Al 57,205




SN COIFORQI Dt
. ZOje =X S8
Chel: ZOHQlMEOrA X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 57,206
307 gl2tol & 228,820 0 228,820
= 114,410
Al 57,205
- 57,205
11 AMEISXAIEEXS 228,820 0 228,820
Oz5S LEIQ =2t 2 LU X2
228,820,000 228,820
= 114,410
Al 57,205
- 57,205
g2 Y0 S5 MHIA 6,700 0 6,700
Al 6,700
307 elztol & 6,700 0 6,700
Al 6,700
11 AMISXAIEEX 6,700 0 6,700
O HOHRl S= A2
6,700,000& 6,700
Al 6,700
ol LXtel X 1,901,248 1,705,866 195,382
= 916, 162
Al 492,543
- 492,543
oL X2 K& (ML ML) 1,035,056 922,696 112,360
= 517,528
Al 258,764
- 258,764
101 @124H| 1,035,056 922,6% 112,360
= 517,528
Al 258,764
- 258,764
M ORNZZ2NSE S 1,035,056 922,696 112,360
OFONel MUK LXI2| At
1,035,056,000& 1,035,096
= 517,528
Al 258,764
- 258,764
oL X2l X (SXLRel) 297,056 350,944 A\53,888
= 148,528
Al 74,264
- 74,264
101 e124d| 227,464 282,964 55,500
= 113,732
Al 56,866




SN COIFORQI Dt
= Zojel =X s
chels ZoHel 2Xtel XA (St &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
- 56,866
04 JIZtNZ22 XS 2+ 227,464 282,964 A55,500
O&ME sXLXt 227,464,000 227,464
= 13,732
Al 56,866
- 56,866
201 fet=23y| 490 490 0
= 244
Al 123
- 123
01 At2teltl 490 490 0
OmOIUTIE MY BRI+
70,0002 x1H 73] 490
= 244
Al 123
- 123
307 el2to| & 69,102 67,490 1,612
= 34,552
Al 17,275
- 17,275
11 AR S XA 2 X 69,102 67,490 1,612
OS+US-SAAAE St
69,102,000& 69,102
= 34,552
Al 17,275
T 17,275
oL X2 X (AL Xt2l) 369,504 288,412 81,092
= 184,752
Al 92,376
T 92,376
101 @124H| 369,504 288,412 81,092
= 184,752
Al 92,376
- 92,376
04 JIZtN22 X S8+ 369,504 288,412 81,092
OZOHA LRI X (AIREM L X2])
369,504,000 369,504
= 184,752
Al 92,376
- 92,376
ZOH LRI XA (SatE L Rtel) 130,708 127,756 2,952
= 65,354
Al 32,677
- 32,677




2A:

. ZOje =X S8
ol ZoHe! el XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 130,708 127,756 2,952
= 65,354
Al 32,677
= 2,677
1 ABIS XA EE 130,708 127,756 2,952
OLLHNARVLSA BFLT2
130,708,000 130,708
= 65,354
Al 32,677
- 32,677
O RCIX B (SSHML HEE LX) 68,924 16,058 52,866
Al 34,462
- 34,462
307 elztol & 68,924 16,058 52,866
Al 34,462
- 34,462
11 AMEISXAIEEXS 68,924 16,058 52,866
OSEsMel &S ALl
68,924,000 68,924
Al 34,462
- 34,462
AY2SZHI(=F0el ) 91,533 83,694 7,839
= 14,790
Al 7,3%
T 59,551
= 9,797
Jl=23dI(-el o elnt) 91,533 83,694 7,839
= 14,790
Al 7,39%
- 59,551
= 9,797
Jl2ZHl HISAR (el ZHohelmt) 50,318 47,425 2,893
201 er23 | 27,974 26,809 1,165
01 At2teltl 27,974 26,809 1,165
Oget+=ZHI 54,5003 x24H x 122 x90% 14,150
o=l 8,000 x24H+641x 122 13,824
202 04| 18,144 16,416 1,728
01 2LHA b 18,144 16,416 1,728
OEF0HI 10,0003 »21H 82+ 123 9% 18,144
203 g4l 4,200 4,200
M EASHLRFAH 4,200 4,200
ORNESgER=aHI 350,000& * 12 4,200
olHA2IA|(olYXte| Mgel™) 41,215 36,269 4,946




SA: SOIEOfOI It
M 20| (L IR0
SH9l: D= 2|1 0HoID) (choy: @2
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
= 14,790
Al 7,395
- 9,233
= 9,797
101 2124d| 40,690 35,744 4,946
= 14,790
Al 7,395
- 9,233
= 9,272
01 2% 1,838 1,628 210
OAIZIEE A IHIZERE '0H'E Ag8EX
]l 153, 120& * 120 & 1,838
02 JIEt& 24 33,852 34,116 4,736
OAIZIEEHIFIIHIS R '0H'E 2124H|
38,852,000 33,852
= 14,790
Al 7,395
- 7,395
= 9,272
204 AR LA 525 525 0
= 525
02 S8 REH| 525 525 0
OAZHEEHILIIH 2L '0H'S HeES
] 43,7502 % 1200 2 525
= 525




H & 0l & AHS B Ml A

A HEOots

33 g =X &
el oA AEIEO! KA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
&0t 52,701,154 52,067,688 643,466
= 31,000,426
[ 1,605,771
Al 10,955,368
- 8,683,876
= 455,713
od =X 58 11,383,584 10,060,798 1,322,786
= 6,903,029
Al 3,087,030
- 1,393,525
o8 Al=IE0 XIE 10,527 10,150 377
HEIIE=AEe=d 2,902 1,800 1,102
203 HF=H| 2,902 1,800 1,102
03 A= PR FAI| 2,902 1,800 1,102
ONEOots Al =& 2,902,000& 2,902
2SI 24 1,490 1,490
201 fer= 3| 1,490 1,490
01 At 2t 1,490 1,490
OgddEsqde 23 1,490
o?IA3 =& 70,0002 * 10 *22] 1,400
oAEH MH 18,0002 x5& 0
gEg9g8t 29 2,635 3,370 AT735
201 eer23y| 2,635 3,370 AT735
01 AtR2t2lHI 2,635 3,370 AT735
Odolll & JE2HSEI SR WS 735
o ZAIZ 300,000 *22] 600
ouFul, % S 2SS 244l
135,000 135
OdEgggit A& =&
300,000 43 1,200
O&8EgeEI 22 =&
70,0002 x5 *23] 700
HEEStEAl =4 3,500 3,490 10
201 el 2,860 2,860
01 At22t2lt] 1,800 1,800
OWHZSEZAl 222 M=
900,000 900
OWdalstzAl It2 & 2HEE
300,000 *32] 900
03 A2 I 1,060 1,060 0
ORO0PIE HE8ES nS(FRItHe) 500
o4l & Hdeltd Ws
250,000 23 500
OWdalatz Al FEFHME 2 560
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SM: A0S D
HH: ol =X BX
CHRl: OIA0| OFRIBH TAIBHE XA (crel =2l
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 AtR2 2| 450 450 0
OSHIRIZA AES R84
150, 00024 *3H A 450
EEN R 1,000 1,000
201 LEre | 1,000 1,000
01 AR Z2lH| 1,000 1,000
O=2t o2t Al K& 1,000,000 1,000
HA =X 25 189,33 183,505 5,831
2 73,35
Al 115,980
IIHZANCA SAK N 42,625 42,205 400
Al 42,625
307 0I2H0I & 42,625 42,25 400
Al 42,625
11 MBI XA EE 42,625 42,25 400
OJNFE2AALA ALY N2
30,456,000 30,456
Al 30,456
ONHZANTA BAK SXE2 (MM
) 1,050,000 1,050
Al 1,050
ONHZANTA SAK SEHALAE| X
2A(HRMA) 600,000 600
Al 600
ONFZ2AALA SALG 22 L 22X
=g 3,600,000 3,600
Al 3,600
ONFZatgA EAG ARS 2HIAIL
A2EQI (M 2M ) 6,919,000 6,919
Al 6,919
IHBANSGL 2% 146,711 141,280 5,431
=2 73,356
Al 73,355
307 QI2+0I & 146,711 141,280 5,431
=2 73,356
Al 73,355
10 ALSIZ XA S 2HH 25 146,711 141,280 5,431
ONFZsas 29 146,711,002 146,711
2 73,356
Al 73,355
HAS BHEDIIN MBI 3,866,680 3,632,453 234,227
2 2,968,640
Al 820,600
- 77.440
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2A:
X XH -
o e

=aak

SHEDIPY MEOIY K|S

o= C o

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 63,000 60,000 3,000
Al 31,500
- 31,500
02 ARSI 2 XSG (FHAAHS, NLWE) 63,000 60,000 3,000
OSREIE SHI| MEOHE X2
63,000,000 63,000
Al 31,500
- 31,500
S22 JIE SAAE 28g 931,49% 801,299 130,196
= 66,089
Al 865,287
- 119
2ANE=ETAE K& 448,743 404,235 44,508
Al 448,675
- 68
307 212+01& 448,743 404,235 44,508
Al 448,675
- 68
10 Al SXAEEHE2EHI 22X 448,675 404,123 44,552
ZZ22MoméKids 2 448,675,000 448,675
Al 448,675
11 AMEISXAEEES 68 12 N4
OABIZXN B4DEH X
16,8003 x4 68
ODIE2AHE SXAE X3 349,756 330,664 19,092
Al 349,705
- 51
307 gl2to| & 349,756 330,664 19,092
Al 349,705
- 51
10 Al SXAEEE 22X 349,705 330,580 19,125
OZLIztel & 23 349,705,000 349,705
Al 349,705
1 AMEISXAEEXS 51 84 A33
OAte|= XA E41=H] XA
16,8002 34 51
ANELATAE XIS R (BHRI2IESXIAIEL) 22,400 22,000 400
= 11,200
Al 11,200
307 glztol & 22,400 22,000 400
= 11,200
Al 11,200
11 AMEISXAIEEXS 22,400 22,000 400




=M OlE0IS I
33 g =X &
&t SRE I SIAE 2F (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OANELATIASXI Z XA (BRI ==
Al&) 22,400,000& 22,400
= 11,200
Al 11,200
ANEIISELXNHA(BRI2IESXAIE) 78,080 0 78,080
= 39,040
Al 39,040
307 212+01& 78,080 0 78,080
= 39,040
Al 39,040
11 AMEISXAEEES 78,080 0 78,080
OANEIISEZ XIS (BR2IE=TIAIL)
78,080,000& 78,080
= 39,040
Al 39,040
AEOOISSMUIARIH (BHRL2IIESXIAIE) 22,641 34,600 211,959
= 15,849
Al 6,792
307 212+01& 22,641 34,600 11,959
= 15,849
Al 6,792
11 AMEISXAEEES 22,641 34,600 A11,959
OAEO0ISSMEIAXIR (B2 2IIE=ZR
A&) 22,641,000 22,641
= 15,849
Al 6.792
SIREIIESIIAE SAHA XA 9,875 2,200 7,675
Al 9.875
307 glztol & 9.875 2,200 7,675
Al 9,875
11 AMRISXAEEES 9.875 2,200 7,675
ORZ2IE=XAE SAHL =X X
2,275,000& 2,275
Al 2,275
OStRRIIESXIAIE SAHA S8l Xl
& 400,000 400
Al 400
Ot RIESAAE SAHLT FHSAH &
2tel=g A& 7,200,000 7,200
Al 7,200
ABNE SN 5,403,885 4,698,757 705,128
= 3,454,2%6
Al 974,633
- 974,956




2A:

X XH -
o=

chel: ALIIE =X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
A= JERAE X2 111,230 77,876 33,354
201 er23 | 49,800 64,320 214,520
01 AlR 21| 19,800 19,800 0
Ool47 II=HE LUR(6S)
1,650,000& * 12& 19,800
02 S3=gHl 30,000 44,520 14,520
O8Ll2 45 22l 2,500,000 128 30,000
307 212+01& 61,430 13,556 47,874
10 Al2ISTIAIEEE 22X 48,176 0 48,176
OJI54H 234l X2 48,176,000 48,176
11 AMEISXAEEES 13,254 13,556 A302
OSIIDIE ag T2 2
12,800, 0002 12,800
O947 JIZHE ABI=TA B2DSY)
A& 16,8003 x27 44
JIEMYH SE2S(A20HE, #HaI1) 762,460 503,940 258,520
= 381,230
Al 190,615
- 190,615
307 @120l & 762,460 503,940 258,520
= 381,230
Al 190,615
- 190,615
1 AMEISXAIEEXS 762,460 503,940 258,520
OJI=HH SE2E(A20HE, H A 2101)
762,460,000 762,460
= 381,230
Al 190,615
- 190,615
orolEs XN& 4,298,364 3,761,474 536,890
= 3,008,854
Al 644,755
- 644,755
307 el2tol & 4,298,364 3,761,474 536,890
= 3,008,8%4
Al 644,755
T 644,755
11 AMEISXAEEES 4,298,364 3,761,474 536,890
Ootol=s XA 4,298,364,000& 4,298,364
= 3,008,8%4
Al 644,755
- 644,755
OlOIZ =20l gs&eisg K& 40,610 40,610 0
Al 40,610




2A:

X XH -
o=

=aak 3423%@%?5% (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
307 212+01 A 40,610 40,610 0
Al 40,610
1 ABIS XA EE 40,610 40,610 0
OOOISR0| BSH 4L X2
40,610,000& 40,610
Al 40,610
S=F0tUsEH 2 JIEE20 2G XA 113,424 110,388 3,036
= 56,712
Al 28,356
- 28,35
307 QI2Hol ™ 113,424 110,388 3,036
= 56,712
Al 28,356
- 28,356
11 AL SXAMEES 113,424 110,388 3,036
OZ2=S0tUsH 2 IIES30| 2K
113,424,000 113,424
= 56,712
Al 28,356
- 28,356
ALINE X JAEEH SAA K& 62,797 30,469 32,328
Al 62,797
307 212+01 A 62,797 30,469 32,328
Al 62,797
11 Al =SXAMEES 62,797 30,469 32,328
OBAX Y22l X2
47,197,000& 47,197
Al 47,197
OSALRL =X K& 4,000,000& 4,000
Al 4,000
OSALA A2 &8d XI& 1,400,000& 1,400
Al 1,400
OZAT BAUTAH W B2l4g X
10,200,000 10,200
Al 10,200
HLAUERR Ols2sH| N3 15,000 26,400 211,400
= 7,500
Al 7,500
301 LPENZ 15,000 26,400 211,400
= 7,500
Al 7,500
01 A BEAH 2 (R RNEETR) 15,000 26,400 A11,400
OFAEER Ols2d=sH| Xd
15,000,000& 15,000




fA: odots
33 od =X &
el HLIEEXXZ (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 7,500
Al 7,500
Ct=shts X1 925,451 654,715 270,736
= 340,648
Al 284,030
- 300,773
CHEsbtEXAEds 238 1,120 1,680 560
201 er23 | 1,120 1,680 A560
01 At2teltl 1,120 1,680 2560
OCI2 SIS XRE S| SIOI8A +g
70,0002 x8H*23] 1,120
CHE3EAIZHE SAHLE &3 28] XI& 58,322 33,748 24,574
Al 58,322
307 lztol & 58,322 33,748 24,574
Al 58,322
1 AR SXAIEE X 58,322 33,748 24,574
OSBAH 2= 284l X
45,722,000& 45,722
Al 45,722
OBALR SXE+ X&E 3,400,000& 3,400
Al 3,400
OSAHAH S8 8H| X3
1,400,000& 1,400
Al 1,400
OS A oAbl X3 7,800,000& 7,800
Al 7,800
NEEsE 23S NZ A 14,500 14,500 0
Al 7,250
- 7,250
307 gl2to| & 14,500 14,500 0
Al 7,250
- 7,250
11 AMISXAIEEX 14,500 14,500 0
OXgEste UEstE XA
14,500,000 14,500
Al 7,250
- 7,250
CtEshts Sdatatd 313,645 329,816 A16,171
= 156,823
Al 78,411
- 78,411
307 glztol & 313,645 329,816 216,171
= 156,823
Al 78,411




2A:

X XH -
o=

=t UE3EE X3 (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
- 78,411
11 AL =SXAMEES 313,645 329,816 A16,171
OtU=at=E E43Ad
289, 145,000& 289,145
= 144,573
Al 72,286
- 72,286
OZE0|2UX AL (S=2HUR)
24,500,000 24,500
= 12,250
Al 6,125
- 6,125
G220t Ot &Y d2ZAL 2 X2 X3 1,200 1,200 0
Al 1,200
307 212+01™ 1,200 1,200 0
Al 1,200
1 ARBI= XA EE 1,200 1,200 0
OCHREIIE 01 ZET0) FUAA X8
1,200,000& 1,200
Al 1,200
G232t 2I10HE JIEXIZ A 4,000 4,000 0
Al 2,000
- 2,000
307 212+01 A 4,000 4,000 0
Al 2,000
- 2,000
11 Al SXAMEES 4,000 4,000 0
OC23t 9I010kS HEXIRE X
4,000,000& 4,000
Al 2,000
- 2,000
CHE22tE THH HIES ALY 8,000 8,000 0
Al 8,000
307 212+01™ 8,000 8,000 0
Al 8,000
11 AR SXAMEEER 8,000 8,000 0
OU=23tE HH HES ALY
8,000,000& 8,000
Al 8,000
CH23ts Kt 2etelus SHE 2SAY 10,350 10,350 0
Al 5,175
- 5,175
307 212+01™ 10,350 10,350 0
Al 5,175




fA: odots
33 od =X &
el CEshts A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 5,175
11 AMEISXAEEXS 10,350 10,350 0
OUEahts N 2242lus SHS A
10,350,000& 10,350
Al 5.175
- 5,175
CtEshts d=so=2 ™ 4,000 4,000 0
Al 2,000
- 2,000
307 elzto| & 4,000 4,000 0
Al 2,000
- 2,000
1 AMISXAIEEXS 4,000 4,000 0
OUesIiE g=nz Iy
4,000,000 4,000
Al 2,000
- 2,000
IEdE 28 (CH238t) 367,650 90,900 276,750
= 183,825
Al 91,912
- 91,913
307 212+01™ 367,650 90,900 276,750
= 183,825
Al 91,912
- 91,913
1 AMISXAIEEXE 367,650 90,900 276,750
Ot=2=htE MK 302,400,000 302,400
= 151,200
Al 75,600
- 75,600
OZ&0I2Xt HEXE 65,250,000 65,250
= 32,625
Al 16,312
- 16,313
CH22ts el KIE A 59,520 35,000 24,520
Al 29,760
- 29,760
307 @I2t01 & 59,520 35,000 24,520
Al 29,760
- 29,760
11 AMEISXAEEES 59,520 35,000 24,520
Oogxielagod=zd 38,320,000& 38,320
Al 19,160
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2A:

B AW 2384 Y N
chelr HAEAE 2Y (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Omauspn 29 651,724, 0002 651,724
HAAXISA HHXIXIE 81,322 74,762 6.560
2 25,368
Al 12,684
= 12,684
x 30,586
307 21201 81,322 74,762 6,560
2 25,363
Al 12,684
= 12,684
z 30,586
05 2I2+IEr 81,322 0 81,322
OFAEXISA HHI X/ 81,322,0002 81,322
2 25,368
Al 12,684
2 12,684
5 30,586
AU DSOBIH0 29 488,682 446,584 42,098
2 188,978
Al 94,489
= 94,489
z 110,726
307 12+0| M 488,682 446,584 42,09
2 168,978
Al 94,489
2 94,489
5 110,726
05 2l2tIEt 488,682 0 468,682
OYB=03HHD| 2 488,682,000 488,682
2 188,978
Al 94,489
2 94,489
x 110,726
2RYLESBAIL A2E2IY 2 XD 12,000 16,000 £4,000
Al 12,000
307 212H01 12,000 16,000 24,000
Al 12,000
05 QI2tlEta 12,000 0 12,000
OBBELEFAL WRT208 29 |
2 12,000,0002! 12,000
Al 12,000
NABAEHOD|? 2 (HLE+NE 2G5 4,000 4,000 0
SENED




2A:
X XH -
o e

=aak

0140 S It
FAU 23184 2 X2
HAUANS 2%

SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
307 212+01 A 4,000 4,000 0
05 QIZtRES 4,000 0 4,000
O=gAld 282233 XA
4,000,000& 4,000
HLAEUXNZX|AHEH 29 529,709 520,000 9,709
Al 160,000
- 369,709
307 gI2tol ™ 529,709 505,000 24,709
Al 160,000
- 369,709
05 2I2tRES 529,709 502,000 27,709
OFAEHNZX MY 29
529,709,000& 529,709
Al 160,000
- 369,709
EadE Baod 29 461,262 444,315 16,947
307 gI2Hol ™ 461,262 444,315 16,947
05 QIZtRIErZ 461,262 444,315 16,947
OFEAHEESE 2H 461,262,000& 461,262
KNBALe] HAEHOHNY A= 123,784 119,611 4,173
= 51,000
Al 25,500
- 25,500
= 21,784
201 Ler2| 1,400 1,400 0
= 1,400
01 AlR22IH| 1,400 1,400 0
OBAE=TAOISIAS] A2
70,0003 *10F #2353 1,400
= 1,400
307 QIZ2t01A 122,384 118,211 4,173
= 51,000
Al 25,500
- 25,500
= 20,384
05 QIZtRES 122,384 118,211 4,173
OEAOINY 75 e
122,384,000& 122,384
= 51,000
Al 25,500
- 25,500
= 20,384
o FAEUMESEIEH 29 XI7 180,530 174,122 6,408
Al 87,220




fA: odots
. ZAd 2384 L X8
chelr HAEAE 2Y (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 87,220
= 6,090
307 lztol & 180,530 174,122 6,408
Al 87,220
- 87,220
= 6,090
05 2ItRIE = 180,530 174,122 6,408
OFxddE=XMH 28
180,530,000 180,530
Al 87,220
- 87,220
= 6,090
FAYE S 2208 29 117,163 91,477 25,686
= 56,562
Al 28,281
- 28,281
= 4,039
307 el2to| & 117,163 91,477 25,686
= 56,562
Al 28,281
T 28,281
= 4,039
05 git?(& = 117,163 91,477 25,686
OHAE SHX Z20 29
117,163,000 117,163
= 56,562
Al 28,281
- 28,281
= 4,039
HAESEA M Al X 11,8%4 7,418 4,476
Al 5,947
- 5,947
307 @I2t0| & 11,8% 7,418 4,476
Al 5,947
- 5,947
05 2ItRIE = 11,8%4 0 11,8%4
OFAESE MLl K&
11,894,000 11,8%4
Al 5,947
- 5,947
St S Fad NE 329,962 302,665 27,297
= 121,335
Al 26,001
T 26,000




A Hdotst
Hu: HAd 2384 Y X
2ol FAEAE 2 (Che 2l
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 156,626
307 212+01™ 329,962 302,665 27,297
= 121,335
Al 26,001
- 26,000
= 156,626
05 QIZtAEr 2 329,962 302,665 27,297
OStDHHAENAHE 29
329,962,000& 329,962
= 121,335
Al 26,001
- 26,000
= 156,626
st g HAYE SAXA 32,400 20,160 12,240
= 8,976
Al 11,712
- 11,712
307 212+01™ 32,400 20,160 12,240
= 8,976
Al 11,712
- 11,712
05 DIZtolEt 32,400 0 32,400
Ostm & AU AN
32,400,000& 32,400
= 8,976
Al 11,712
- 11,712
STNHELAEXAAEH SAEL HH&Hl XI& 9,780 7,254 2,526
Al 4,890
- 4,890
307 212+01™ 9,780 7,254 2,526
Al 4,890
- 4,890
05 IZteEe g 9,780 0 9,780
O uHHAEXRJLAE SAX HRIMEHI
X3 9,780,000& 9,780
Al 4,890
- 4,890
HLESTAE 28 XA 409,372 339,538 69,834
= 161,458
Al 247,914
307 212+01™ 409,372 339,538 69,834
= 161,458
Al 247,914




2A:

Hu: HAd 2384 Y X
&l EAYAE 29 EEED
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
11 AR SXAMEEER 409,372 339,538 69,834
OHAESTNE 2E XA
409,372,000 409,372
= 161,458
Al 247,914
HAESTAE SAHAL L223H| XI& 28,000 32,000 24,000
Al 28,000
307 212+01™ 28,000 32,000 24,000
Al 28,000
11 AR SXAMEE X 28,000 32,000 24,000
OFLESKIANE SAHA ASEXE] K&
28,000,000& 28,000
Al 28,000
HLAESXIAE SAHL S22 2 2= 5,400 4,800 600
Al 5,400
307 QI2Hol ™ 5,400 4,800 600
Al 5,400
11 AL SXAMEEER 5,400 4,800 600
OHAE=NAE BAK S2H L 221X
=g 5,400,000& 5,400
Al 5,400
HLAESKIANE SAMAL SXES XJ 1,800 1,550 250
Al 1,800
307 gI2tol ™ 1,800 1,550 250
Al 1,800
11 AL =SXAMEES 1,800 1,550 250
OFALESXANE SALL SXE K&
1,800,000& 1,800
Al 1,800
FAESKIAE SAL SeA22 8 K& 400 1,000 AB00
Al 400
307 QIZ2t01 A 400 1,000 AB00
Al 400
11 Al =SXAMEES 400 1,000 AB00
OFLEHSXANE SALAL SEH2ZEH| K
& 200,000 x2H 400
Al 400
HAEASTAE A SER2A 2t 26,009 21,122 4,887
= 26,009
301 LetENEZ 26,009 21,122 4,887
= 26,009
10 AIEI SRS 26,009 21,122 4,887
OHFLESKIANE AIZISRA 22|
26,009,000 26,009
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fA: odots
Hu: HAd 2384 Y X
gelr 3449 25 2 |4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 1,110 1,110
01 Al22t2lH] 1,110 1,110
OHAESHSAS AL
70,0002 %122 +13] 840
OFI=E & s X 270,000 270
FAE ALNE(MAS HEFLE AAUES NY) 182,412 137,436 14,976
= 76,206
Al 38,103
- 38,103
301 EetE2 NS 152,412 137,436 14,976
= 76,206
Al 38,103
- 38,103
01 Al EE AT Z2(2REXR) 152,412 137,436 14,976
OMNAS HdEad dES K&
152,412,0002 152,412
= 76,206
Al 38,103
- 38,103
HEZad 4|83 FHE NE A 98,847 530,880 A\432,033
Al 49,423
2 49,424
201 fet=3| 2,283 0 2,283
Al 1.141
- 1,142
01 At22t2lt] 2,283 0 2,283
OJtt g5 === 2,283,000& 2,283
Al 1,141
T 1,142
301 EtE N = 96,564 530,880 A434,316
Al 48,282
- 48,282
02 MR 2HHLFS(HAAS, XNLHE) 96,564 530,880 A434,316
ONgEAE HelE83 2HA XNJAMNY
96,564,000 96,564
Al 48,282
- 48,282
FardRoistBZAIE XIS 2,334 2,333 1
= 1,166
Al 584
- 584
307 212+01& 2,334 2,333 1
= 1,166




A HEOots

. ZAd 2384 L X8
el 348 25 @ |4 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 584
T 584
02 2IZHB A E £ 2,334 2,333 1
OFaxdRoi2tB2AIE XH
2,334,000& 2,34
= 1,166
Al 584
- 584
Ors=X 29 58 37,380,617 37,860,861 A510,244
= 23,360,644
= 1,562,363
Al 7,017,093
- 5,333,335
= 87,182
ots=¢ A& 27,625,044 29,258,257 1,633,213
= 22,100,035
Al 3,867,506
- 1,657,503
Ots+gs0Xa 27,625,044 29,255,657 21,630,613
= 22,100,035
Al 3,867,506
T 1,657,503
301 EtE NS 27,625,044 29,255,657 1,630,613
= 22,100,035
Al 3,867,506
- 1,657,503
01 AR 2EHSHS(RNEXRTHE) 27,625,044 29,255,657 21,630,613
Oots+=¢ 27,625,044,000& 27,625,044
= 22,100,035
Al 3,867,506
- 1,657,503
FAAHE OlsES 3,204,979 3,272,649 A\67,670
= 258,347
Al 1,590,654
- 1,355,910
= 68
OlS=Al LBt XI& 1,960 1,960
201 er2 3| 1,960 1,960
01 AtR2telHl 1,960 1,960
O0Is?I33 28+
70,0003 * 142 #22 1,960
240t 84X 2,707,900 2,447,720 260,180
Al 1,353,950




2A:

ma: ols=x Ao =X
o9l HOHB OlSES (ol m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 1,353,950
301 EtE NS 2,707,900 2,447,720 260,180
Al 1,353,950
- 1,353,950
02 ARSI SE AT S(FIANS, XLETHE) 2,707,900 2,447,720 260,180
OZA0ts SAXIE 2,707,900,000& 2,707,900
Al 1,353,950
- 1,353,950
PAots IIEXE (RHLLots 2F+E) 254,400 300,000 145,600
= 178,080
Al 76,320
301 EtE N = 254,400 300,000 A45,600
= 178,080
Al 76,320
01 Al EE A S(FRNEXMA) 254,400 300,000 45,600
ORNY LI YFLL X2
254,400,000 254,400
= 178,080
Al 76,320
PA0ts IIEXZ (HH0lS L=EX3) 16,598 9,07 7,527
= 11,619
Al 4,979
301 EtE N = 16,598 9,07 7,521
= 11,619
Al 4,979
01 Al EE A S (2 RNEXMA) 16,598 9,07 7,527
OZliots d=s2x= A
16,598,000& 16,598
= 11,619
Al 4,979
LA0tS SN2 (L= 2t LAUAIH) 1,400 2,100 A700
= 980
Al 420
301 EtE N = 1,400 2,100 AT700
= 980
Al 420
01 Al EE AT S (2 RDEEMA) 1,400 2,100 AT700
oY=t 2N 1,400,000& 1,400
= 980
Al 420
deots SN (YA==2 XY) 2,700 2,700 0
= 1,890
Al 810
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A HEOots

B Ols=X Aol X
o9l HOHB OlSES (ol m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZSYEIIE AB=TA 22DSE] A
67,2002 68
= 68
SSHEIE SAHA SSE2EH 47,007 43,915 3,002
Al 47,007
307 @12t0| & 47,007 43,915 3,002
Al 47,007
11 AMEISXAIEEES 47,007 43,915 3,002
OBSHEINE SAX Y22H| X
47,007,000& 47,007
Al 47,007
SSUEIE SAHL S2H] & 2elh=E 5,040 3,600 1,440
Al 5,040
307 212+01& 5,040 3,600 1,440
Al 5,040
1 AMISXAEEXS 5,040 3,600 1,440
ORSMEIE BAX S2H L 224
E 5,040,000& 5,040
Al 5,040
SSHEINE SAA SXE =+ N 1,050 1,050 0
Al 1,050
307 lztol & 1,050 1,080 0
Al 1,050
11 ARRIS XA E X 1,050 1,080 0
ORSMEIE BAX 24 X
1,050,000 1,050
Al 1,050
SSUEIIE SAHA SeEAZZ 48l Xd 600 200 400
Al 600
307 elztol & 600 200 400
Al 600
11 AMEISXAEEES 600 200 400
OSSUEIIE SAL SeaH2ddH| XI&
600,000 600
Al 600
SSHEIE T2 X 12,312 10,796 1,516
Al 12,312
307 gl2to| & 12,312 10,796 1,516
Al 12,312
11 AMEISXAEEES 12,312 10,796 1,516
OSsdEry T2 )8 K&
12,312,000& 12,312
Al 12,312
AEAH JHE BS 1,731,760 949,251 782,509




£AM: 6-0ts Dt
B Ols=X Aol &
gelr AEal O 23 (SH &)
SN - B S(BH) - HBAY - BAS 0 &y e HIRS2
= 1,002,262
Al 430,884
- 298,614
IIEAEOIS (AT AEHIIE) 2=H] X2 231,600 208,800 22,800
Al 162,120
- 69,480
301 EtEXZ 231,600 208,800 22,800
Al 162,120
- 69,480
02 AISIBEESHZS(FHUAHS, NEWE) 231,600 208,800 22,800
OJIEEOIS(AEAEHIIA) 2sH| X
231,600,000& 231,600
Al 162,120
- 69,480
LAREESHl K& 5,400 2,700 2,700
Al 3,780
- 1,620
301 EtEXZ 5,400 2,700 2,700
Al 3,780
-+ 1,620
02 AIBIBEESFZ2(FHYAHS, NEWE) 5,400 2,700 2,700
AUAREESH| 5,400,000& 5,400
Al 3,780
- 1,620
(M2IE/AET20IsESH| XS 12,000 12,000 0
= 8,400
Al 3,600
301 EtBXZ 12,000 12,000 0
= 8,400
Al 3,600
01 Al EEE LS (2DEEEA) 12,000 12,000 0
O(H2SIIELAE AV OIS EES )M R0tE
234 X 1,000,0003 x1H+12& 12,000
= 8,400
Al 3,600
(RID10ISIHEES)0ISEE Ll A 500 1,000 AB00
= 350
Al 150
301 EtEXZ 500 1,000 A500
= 350
Al 150
01 Al EEE S (2DEEEA) 500 1,000 A500




A Hdotst
ma: ols=x A=A
ool AUAH DI 23 (ol m2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
O(SJN0HSIHHES) OIS BB X
500,0002 1 *13] 500
= 350
Al 150
I LIE oS (AEAEINE) T2 XIJ 33,500 27,800 5,700
Al 16,750
- 16,750
301 LEBNZ 33,500 27,800 5,700
Al 16,750
- 16,750
02 MBI EEHHS(HUAS, NLTHEA) 33,500 27,800 5,700
O+ 2 Set0iz]
90,0003 *25F *23 4,500
Al 2,250
- 2,250
Ostat| 21,000,000& 21,000
Al 10,500
- 10,500
Ol MEHEXIRS 8,000,000& 8,000
Al 4,000
- 4,000
ANEEHEE ANEEEZ NH 40,000 50,000 210,000
Al 20,000
- 20,000
301 LPENF 40,000 50,000 10,000
Al 20,000
- 20,000
02 ANSI2EHE S (HUAHS, NSTHA) 40,000 50,000 10,000
OXEEHI8E Negdsz X
40,000,000& 40,000
Al 20,000
- 20,000
IIELIEOtS (AEAEHINE) dsEsH X 12,600 18,000 Ab,400
Al 6,300
- 6,300
301 LB F 12,600 18,000 25,400
Al 6,300
- 6,300
02 ASI2EHH S (HUAHS, NSTHA) 12,600 18,000 Ab,400
OJIESISOIS (A HAHINE) KA SESH|
X3 150,000&+7H + 122 12,600
Al 6,300
- 6,300
Ots L XI2 A 2 1,229,760 450,051 779,709
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fA: odots
B Ols=X Aol &
ol CHEN SsSAHE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 65,985 81,248 N15,263
ARISNAIEEHE2SHIEX 65,800 81,248 A~ 15,448
OFss U =sHH IS
55,000,000& 55,000
O=HIIET Uah ss4dH =otAd
300,000& * 122 3,600
Odx2s U SsHH FIHKH
300,000& 122 3,600
Od13 U SsHH FIHKIE
300,000 x 122 3,600
1 AMEISXAEEXS 185 0 185
OUEN SSHEH SAMAL Eu=|H| X
16,8002 * 11 185
CIEH dig ZXidl X& 105,000 210,000 105,000
= 67,500
Al 18,750
- 18,750
401 AIEHIZL SR 0HYI 75,000 150,000 AT75,000
[ 37,500
Al 18,750
- 18,750
01 AlZH| 75,000 150,000 AT75,000
OUEN sS4 el22ad|(sY)
75,000,000 75,000
[ 37,500
Al 18,750
- 18,750
405 AtaHE = 30,000 0 30,000
[ 30,000
01 ML ESFSHI 30,000 0 30,000
OCIEH SSHIEH JIXHEI(SHY)
30,000,000 30,000
[ 30,000
Cietssdl Al X2 463,992 428,904 35,088
= 231,9%
Al 115,998
- 115,998
307 glztol & 463,992 428,904 35,088
s 231,99
Al 115,998
- 115,998
11 AMRISXAEEES 463,992 428,904 35,088
Ot SsdH bl X
463,992,000 463,992
= 231,9%




fA: odots
B Ols=X Aol &
ol CHEN SsSAHE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 115,998
T 115,998
CietssdE 22dl X2 76,000 72,000 4,000
= 38,000
Al 19,000
- 19,000
307 lztol & 76,000 72,000 4,000
= 38,000
Al 19,000
- 19,000
11 AMRISXAEEES 76,000 72,000 4,000
Otigh =s4dH 24| X
76,000,000 76,000
s 38,000
Al 19,000
- 19,000
Cietl SS4dH SAHAL S22 8l X 1,400 1,200 200
Al 1,400
307 @120l & 1,400 1,200 200
Al 1,400
1 AMEISXAEEXS 1,400 1,200 200
OUEtH =SdH SAHL Sgd233 8]
A& 1,400,000& 1,400
Al 1,400
CIetil SS4E SAHAL SXEs K& 3,700 3,800 A100
Al 3,700
307 212+01& 3,700 3,800 A100
Al 3,700
1 AMEISXAIEEXS 3,700 3,800 A100
OUaH =348 SAHL SAE+ K&
3,700,000& 3,700
Al 3,700
CIENESSdE SAL 2848 X2 144,734 60,624 84,110
Al 72,367
- 72,367
307 @120l & 144,734 60,624 84,110
Al 72,367
- 72,367
1 AR SXAIEE X 144,734 60,624 84,110
OUEN SSHE SMAL es28+E
144,734,000 144,734
Al 72,367
T 72,367
CrENSSHE SAHA Sl & 2eli=g X2 18,800 14,400 4,400




fA: odots
B Ols=X Aol &
ol CHEN SsSAHE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 18,800
307 gl2tol & 18,800 14,400 4,400
Al 18,800
11 MEISXAEE 18,800 14,400 4,400
OUENSSHE SAL S2Hl 2 22l
=g Ad 18,800,000& 18,800
Al 18,800
Cienssde stasstd N 6,524 7,616 1,092
Al 6,524
307 21201 & 6,524 7,616 A1,002
Al 6,524
1 AMEISXAIEEXS 6,524 7,616 A1,002
Ootgn ssdt stsatd XN
6,524,000& 6,524
Al 6,524
gut=ua 2 XYG0tsHE 29 3,146,455 3,014,942 131,513
= 950,304
Al 851,268
T 1,319,528
= 25,355
guUzws 2 330,920 447,807 116,887
307 21201 & 330,920 447,807 116,887
11 ARRIS XA E X 330,920 447,807 116,887
Ogn=nd 29 330,919,850 330,920
KNS 0otsHE 249Hl K& 231,675 231,584 AN
s 115,560
Al 57,780
- 57,780
= 555
307 el2to| & 231,675 231,584 91
[ 115,560
Al 57,780
T 57,780
= 555
10 Al SXAEEE 22X 231,120 230,660 460
OXlotsHE 2l X2 (01=223])
231,120,000 231,120
= 115,560
Al 57,780
- 57,780
11 MEIEXAEE 555 924 A369
OXISOtSHIE! SALAF ALRISXIAL E=1=
af 16,8002 +33& 555

4

555




FA -0t
B Ols=X Aol &
el gntsnal 2 XY90otsdE 29 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
KS0tsHE 2lAH| K& 1,379,100 1,157,688 221,412
= 689,550
Al 344,775
- 344,775
307 212+01& 1,379,100 1,157,688 221,412
= 689,550
Al 344,775
- 344,775
10 Al SXA2EE 22X 1,379,100 1,157,688 221,412
OXY0otsHy 124l K&
1,379,100,000& 1,379,100
= 689,550
Al 344,775
- 344,775
SdE XH0tsdH FIHE 28,800 30,000 1,200
= 14,400
Al 7,200
- 7,200
307 @120l & 28,800 30,000 1,200
[ 14,400
Al 7,200
- 7,200
10 Al SAAEEHE 22X 28,800 30,000 1,200
OS42x8 XAOISHEH 2T
21,600,000 21,600
[ 10,800
Al 5,400
- 5,400
OER2Y XF0tsHE =t
7,200,000 7,200
[ 3,600
Al 1,800
- 1,800
NS0ISHE aZHe X2 20,000 20,000 0
[ 10,000
Al 5,000
- 5,000
307 el2to| & 20,000 20,000 0
[ 10,000
Al 5,000
T 5,000
10 Al SXAIEEHE 22X 20,000 20,000 0
OXSotsHE e X3
10,000,000 +27H 2= 20,000




fA: odots
B Ols=X Aol &
el gntsnal 2 XY90otsdE 29 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 10,000
Al 5,000
- 5,000
AGotsdE stsad X 51,870 51,870 0
Al 25,935
- 25,935
307 lztol & 51,870 51,870 0
Al 25,935
- 25,935
11 MEISXAEE 51,870 51,870 0
OXAOISHE St&a X2
51,870,000 51,870
Al 25,935
- 25,935
AGotsdE dis &< X 8,384 8,184 200
Al 8,384
307 el2to| & 8,384 8,184 200
Al 8,384
11 AMEISXAEEE 8,384 8,184 200
OXS0tSHE oilE & X
8,384,000& 8,384
Al 8,384
ASEotsdy =203 29 X 25,850 25,850 0
Al 12,925
- 12,925
307 elztol & 25,850 25,850 0
Al 12,925
- 12,925
11 MEISXAEE 25,850 25,850 0
OXlotsHe 28 2 XIJ(EX)
25,850,000& 25,850
Al 12,925
- 12,925
NSOotSHE 0180t AZE8 HIE N 7,920 7,020 900
Al 7,920
307 @120l & 7,920 7,020 900
Al 7,920
11 AMEISXAEEE 7,920 7,020 900
OXNS0tSHE 0180t A3EN HIS Al
! 30,0003 %264 7,920
Al 7,920
XS0ots4HE 0180ks OIME X gX0tA3 XA 4,140 4,140 0
Al 4,140
307 212+01& 4,140 4,140 0




fA: odots
B Ols=X Aol &
el gntsnal 2 XY90otsdE 29 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 4,140
11 AMEISXAEEXS 4,140 4,140 0
OXIZ0otsHIE] 0l80ts DIMIZX Xl OF
A3 K& 10,0002 *4 14 4,140
Al 4,140
KNSOISHE SAL 2S288] X2 536,240 472,043 64,197
Al 268,120
- 268,120
307 @I2to| & 536,240 472,043 64,197
Al 268,120
- 268,120
11 AMEISXAEEES 536,240 472,043 64,197
ONAOISHE SAX L22AY 2
536,240,000 536,240
Al 268,120
- 268,120
NS OtSHE SALA S8 K& 9,450 9,025 425
Al 9,450
307 elztol & 9,450 9,025 425
Al 9,450
11 AMISXAIEEX 9,450 9,025 425
OXIHOISHIEl ZAR =X+ X
9,450,000 9,450
Al 9,450
NS OISHE SAHL SEd2a88H] X2 2,800 4,200 1,400
Al 2,800
307 elztol & 2,800 4,200 21,400
Al 2,800
11 AMRISXAEEES 2,800 4,200 21,400
ONAOISHE! EAX SEHLAA 12
200,000& x14H 2,800
Al 2,800
AGotsdE sS4 =00 lddl X 242,919 234,480 8,439
Al 36,443
- 206,476
307 elztol & 242,919 234,480 8,439
Al 36,443
- 206,476
1 AMEISXAEEXS 242,919 234,480 8,439
OXSotSHIE Hars5(84) sS40 2
Al K& 9,860 * 140 A*24 A 2bx11== 36,443
Al 36,443
OXIciotsHH sIS/estE(4A) SAE
<0l 18l X2 206,476,000 206,476




fA: odots
B Ols=X Aol &
el gntsnal 2 XY90otsdE 29 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OlS=XI WAL THAXIZ (XIGOtSHE RIY) 266,387 296,791 230,404
= 120,794
Al 60,39%6
- 60,397
= 24,800
101 @1A4H| 266,387 296,791 A30,404
[ 120,794
Al 60,396
- 60,397
= 24,800
M ORNZZ2NSE S 266,387 296,791 230,404
ONAOISHE! OIE=XI WAL X2
241,587,000 241,587
s 120,794
Al 60,39%
- 60,397
OYIL(SEH0H EF Ot
1,800,000 1,800
= 1,800
OJIZHHl 221t IHEE=2ds
23,000,000 23,000
= 23,000
Orsel = del sd 342,000 0 342,000
33 JIEItH 2E 342,000 0 342,000
307 212+01& 322,000 0 322,000
05 2ItRIE = 322,000 0 322,000
Od=d 33 7155t 29
322,000,000 322,000
402 212t X+=01 & 20,000 20,000
03 2IZ+RAETAIS I 20,000 20,000
O¢=g 23 123 JIXNM 2
20,000,000 20,000
Stots 23 At 31,080 27,480 3,600
[ 8,000
Al 1,000
- 22,080
orssititis & 233 17,420 14,140 3,280
201 fet= 3| 10,620 7,340 3,280
01 AtR2te|H] 5,700 6,020 A320
O0ts=NH2A/AHD 29 3,360
oOlESsXIaAs 2d+E
3,360,000& & 3,360
OOts=HHYRAES 2o+
70,0003 12213 840




fA: odots
B Ols=X Aol X
el SHols ESAMY (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
OotszclEs & otssttuey 22
500,000 500
Oootsstt s=5 7 1,000,000& 1,000
02 S3=gHl 4,920 1,320 3,600
O0ts=tll lsgF 8= <let 24| 4,920
0HURE SUE 0182
50,0002 ~8LH* 122 4,800
oHl&e 0I8=2 10,0003+ 1123 120
204 MRS 4,800 4,800
R 4,800 4,800
OolssttIHSE S|
50,0002 x8 122 4,800
307 212+01& 2,000 2,000
0122 & 3=l 2,000 2,000
Ostiiuloiots S2xl=Hl A&
200,000 x10H 2,000
Ol=E2sdER3 A/Y 29 10,000 10,000 0
= 8,000
Al 1,000
T 1,000
201 er23 | 3,000 3,000 0
= 2,400
Al 300
- 300
01 AtR2t2lt] 1,800 1,800 0
OO0tsESAIY 2| 1,800,000 1,800
= 1,440
Al 180
- 180
2 S52g4l 1,200 1,200 0
OOls2sdgRY SHHI(ZRE FUHE)
50,0002 ~2CH* 12 1,200
= 960
Al 120
- 120
301 EtE NS 7,000 7,000 0
s 5,600
Al 700
- 700
01 Al 2E A S(SRNEXMHE) 7,000 7,000 0
OtsEsxxl X 7,000,000 7,000
= 5,600
Al 700
- 700




fA: odots
B Ols=X Aol X
el SHols ESAMY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Orssttl e dEXE 3,660 3,340 320
201 er23 | 3,660 3,340 320
2 35234l 3,660 3,340 320
Ootssll sZls dsSitE 288
880,000 880
O0tsstl sdUsS dEXE NSIHAl
120,000 120
Oorsstl sdiis M SALI(FH
A1) 2,000,000 2,000
Ootsstt s3Us dsitg &) 8|
30,0002 *1CH* 12 360
O0tsstl s3UsS dSAtE of0llA
= 5,000 x52] x 122 300
EEHAEE 382,464 457,510 AT5,046
= 256,563
Al 19,242
- 44,900
= 61,759
FAHES OlSSEAHIA XIH 382,464 457,510 AT5,046
= 256,563
Al 19,242
T 44,900
= 61,759
101 21AH| 152,845 181,210 28,365
[ 74,085
Al 5,55
- 12,965
= 60,239
03 SR (RINHA) 222+ 162,845 181,000 N\28,185
OOtSSEAtIZt S| AL 21248|
109,896,000 109,89
= 74,085
Al 5,556
- 12,965
= 17,290
OOtsSESAtdIZCIAL Mg
42,949,000 42,949
= 42,949
201 fer=3| 30,585 100,910 AT70,325
[ 24,468
Al 1,835
- 4,282
01 AtR2t2lHI 20,031 20,580 Ab49
@=] 2,304,000 2,304
[ 1,843




A O

ma: ols=x A =X
Rl EEAEE (St &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
Al 138
T 323
Oget+=ZHI 11,000,000 11,000
= 8,800
Al 660
- 1,540
ogxz 3,327,000 3,327
= 2,662
Al 200
- 465
o2g+g 3,400,000 3,400
= 2,720
Al 204
- 476
02 S3=24l 4,004 4,780 ATT6
0332 € AMAl 2,604,000 2,604
= 2,083
Al 156
= 365
OSBELAAHST 2
400,000& 400
= 320
Al 24
= 5
OAl& o Bl SR
1,000,000& 1,000
[ 800
Al 60
T 140
03 A2 I 6,550 75,550 69,000
OCEAEE D23 2%
6,550,000 6,550
[ 5,240
Al 393
- 97
202 048l 7,980 10,000 /2,020
[ 6,384
Al 479
- 1,117
01 =LHAHI 7,980 10,000 2,020
OEEHAERE &Z0| 7,980,000 7,980
= 6,384
Al 479
T 1,117




fA: odots
B Ols=X Aol X
Rl EEAEE (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
203 HR=H] 700 700 0
fas 560
Al 42
- B
03 A=A =TH] 700 700 0
OAIBF= AR =] 700,000 700
= 560
Al 42
- 8
301 2eEN= 147,136 123,920 23,216
= 117,708
Al 8,828
- 20,600
01 Al EE AL S(FREXMH) 95,336 122,120 NP6, 784
OOt e Yo T2z X2
95,336,000 95,336
= 76,268
Al 5,720
- 13,348
11 AALREIXIES 1,800 1,800 0
OEEAERE 23 1,800,000 1,800
= 1,440
Al 108
- 252
4 JIE2 8= 50,000 0 50,000
OCRIAEIE ZT23 LA
50,000,000 50,000
s 40,000
Al 3,000
- 7,000
04 HSRESS 42,018 40,770 1,248
s 32,398
Al 2,430
- 5,670
= 1,520
04 SR (RIH)22N BE=RES S 42,018 40,770 1,248
OO0tsSEAtd 2N BERE2 S
32,898,000 32,898
[ 26,318
Al 1,974
- 4,606
OOtsSEAtdI2elAl B8 =
9,120,000 9,120
[ 6,080




fA: odots
B Ols=X Aol X
Rl EEAEE (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 456
T 1,064
= 1,520
405 KHaHE SH 1,200 0 1,200
= 960
Al 72
- 168
01 TR ESFISHI 1,200 0 1,200
OZ2Iza Ze Zy 7Y
1,200,000 1,200
= 960
Al 72
- 168
HY2AIHI(HE0otS) 165,661 130,833 34,828
= 53,408
Al 6.676
- 66,897
= 38,680
elEddl(odgots) 110,288 74,442 35,846
[ 53,408
Al 6,676
- 11,524
= 38,680
QIA2EH NRAIS(OISESHERY) 110,288 74,442 35,846
= 53,408
Al 6.676
- 11,524
= 38,680
101 @124H| 109,208 73,392 35,816
= 53,408
Al 6,676
- 10,444
= 38,680
02 JIEtAE = 109,208 70,137 39,071
OltsEadged 212i4|
105,440,000 105,440
[ 53,408
Al 6,676
- 6,676
= 38,680
OAIEHLINSRE "0H'E Hs2 X
3,768,000& 3,768
204 MR A 1,080 1,080 30
02 S3E =3l 1,080 1,080 30




fA: odots
M BHSHAL|(GH0ISDH
CHRl: CIE29H|(0{40tS ) (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAZtEeigI 2R '0F'E el 2 S|
1,080,000 1,080
Jl23bl(oigotsm) 55,373 56,391 1,018
JI2ZHINSAIS (K& 0tS1L) 55,373 56,391 1,018
201 Zet=3h] 30,701 30,306 3%
01 AtR2t2|HI 30,305 30,305 0
Oget=EH| 54,5903 x26 2«12 9% 15,329
O=gHtl 8,000& x26H 641+ 12 14,976
2 35244l 3% 0 3%
Oelgdl 23 33,0002~ 12 3%
202 04l 19,872 20,736 2864
01 =LHNHI 19,872 20,736 A\864
OE&04t| 10,0002 *23E x8L x 122 %90% 19,872
203 =4l 4,800 4,800
M FAZSHIFII 4,800 4,800
OFAMEZE = 400,000 123 4,800




H & 0l & AHS B Ml A

ol SMEHXE (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
SNMEF 137,435,674 128,819,232 8,616,442
= 74,257,066
Al 40,222,446
- 22,831,162
= 125,000
HEL =5 7,547,430 6,883,530 658,900
= 4,047,750
Al 44,500
- 2,555,180
SMEHXIA 7,547,430 6,888,530 658,900
= 4,047,750
Al 44,500
- 2,555,180
Hotg 0|23 5,397,000 4,538,000 859,000
= 4,047,750
Al 944,500
- 404,750
308 AHXIHM SO & 5,397,000 4,538,000 859,000
= 4,047,750
Al 944,500
- 404,750
13 SIS HICHEHE A E L EFALAHI 5,397,000 4,538,000 859,000
oxotgolEd 5,397,000,000& 5,397,000
= 4,047,750
Al 44,500
- 404,750
EMFH=2 A 1,300,000 1,500,000 A200,000
301 LEENZ 1,300,000 1,500,000 A200,000
P2 A BEXHZ(HAAHS, NYHA) 1,300,000 1,500,000 A200,000
O=MEAHS 1,300,000,000& 1,300,000
Otitt SO0ts& Hddza XN 450,000 450,000 0
301 LPENZ 450,000 450,000
2 AN BEHHS(HUHS, NYHA) 450,000 450,000
OOHilt 0I5 Hddzg K&
450,000,000 450,000
AR OHHE A (mother box) 390,000 390,000 0
&
301 LetEHZ 390,000 390,000
2 A BEHHZ(HAANS, NYHA) 390,000 390,000
O AL DHHEMA (mother box) XI&
390,000,000& 390,000
HEdt =5 &3 =4 5,180 5,180
201 B2 AY| 5,180 5,180 0




A EMESDH
= NN
A

e SeEHE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 5,180 5,180 0
OMEN E2 & I &S
5,000,000& 5,000
ONE4 22 TN EHF M
180,000 180
AN 1P W= 2,250 2,250
201 2= 2,250 2,250
01 AtR2t2lt] 2,250 2,250
OelR s A& 150,000& * 152 2,250
=M XY g2 F=a 3,000 3,100 A100
203 HR=H] 3,000 3,100 A100
03 A=A FAIH| 3,000 3,100 A100
OEMEF AIY =& 3,000,000 3,000
SEAEIA = 129,809,292 121,851,467 7,957,825
= 70,209,316
Al 39,277,946
- 20,197,030
= 125,000
SESJ|gt &4 9%67,180 1,611,780 A644,570
= 384,360
Al 192,180
- 265,640
= 125,000
Lt SSFE 2cls =SE00E EX 645,000 760,000 115,000
= 262,500
Al 131,250
- 131,250
= 120,000
401 Al HIZL S 0HYI 475,000 600,000 125,000
= 237,500
Al 118,750
- 118,750
01 Al&HI 475,000 600,000 A125,000
O=SE0e0ld 22|
475,000,000 475,000
= 237,500
Al 118,750
- 118,750
402 2I2E X201 & 170,000 160,000 10,000
= 25,000
Al 12,500
- 12,500
= 120,000




SN BUESD
X EsAHIA 2
el SESI|E X4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 2IZHRAETAIHHI 170,000 160,000 10,000
O=Z802l0I& JIXtiHYI
170,000,000& 170,000
= 25,000
Al 12,500
- 12,500
= 120,000
AJlasm 22t JIEE0IE 3I1g8k =38 Met 4 215,500 230,500 15,000
Xl
= 105,000
Al 52,500
- 53,000
= 5,000
201 LBzl 500 500
01 AtR2te|Hl 500 500
O2 Mg &38HIE 500,000 500
401 AlZHIZ SO 100,000 100,000 0
= 50,000
Al 25,000
- 25,000
01 AlZH| 100,000 100,000 0
OAl&H| 100,000,000 100,000
= 50,000
Al 25,000
- 25,000
402 2IZtA=01d 15,000 30,000 15,000
= 5,000
Al 2,500
T 2,500
= 5,000
03 2IZHRAETAIHHI 15,000 30,000 A15,000
OIIXHHHI 15,000,000 15,000
= 5,000
Al 2,500
- 2,500
= 5,000
406 JIEHAHZ0l1A 100,000 100,000 0
= 50,000
Al 25,000
T 25,000
01 JIEFH=01H 100,000 100,000 0
O2 Mg £3H| 100,000,000 100,000
= 50,000
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SN BUESD
X EsAHIA 2
el SESI|E X4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O34 0fRI01F RE=2 22
1,500,000 1,500
2505 & AMEXH 125,984,610 117,445,391 8,539,219
= 69,796,600
Al 38,593,636
- 17,594,374
lEeEdsg A2 2,593,103 2,874,968 A\281,865
= 1,944,827
Al 453,793
- 194,483
301 EtEE S 2,593,103 2,874,968 A\281,865
= 1,944,827
Al 453,793
- 194,483
01 Al 2E AT S(SREXME) 2,593,103 2,874,968 A\281,865
Ootgg=s=g 2,593,103,000& 2,593,103
= 1,944,827
Al 453,793
- 194,483
2250 (go=g) X 34,267,387 24,238,533 10,028,854
= 25,700,540
Al 5,996,793
- 2,570,0%4
301 EetE NS 34,267,387 24,238,533 10,028,8%4
= 25,700,540
Al 5,996,793
- 2,570,054
01 Al EE A S (2 RDEXMR) 34,267,387 24,238,533 10,028,8%4
OR2zs0 X2 34,267,387,000& 34,267,387
= 25,700,540
Al 5,996,793
- 2,570,054
IR0IEsE K& 36,477,662 39,578,194 /3,100,532
= 27,358,246
Al 6,383,591
T 2,735,825
307 elztol & 36,477,662 39,578,194 A3,100,532
= 27,358,246
Al 6,383,591
- 2,735,825
11 AMEISXAEEES 36,477,662 39,578,194 /3,100,532
OgxR0t 252 36,477 ,662,000& 36,477,662
= 27,358,246




SN BUESD
M BFAMUIA =Y
el 250ls & AIEXIE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 6,383,591
T 2,735,825
Br3~5MI0t el td 2S X 10,445,990 12,285,825 21,839,835
Al 10,445,990
307 212+01& 10,445,990 12,285,825 1,839,835
Al 10,445,990
1 AMISXAIEEXS 10,445,990 12,285,825 1,839,835
Ot 35H0F ST B8R
7,781,075,000& 7,781,075
Al 7,781,075
OB 35H0F DS Z+e U 2|
2,664,915,000& 2,664,915
Al 2,664,915
FRREYESE X 1,570,512 1,614,000 A\43,488
Al 583,001
- 987,511
307 @I2to| & 1,570,512 1,614,000 N\43,488
Al 583,001
- 987,511
11 AMRISXAEEES 1,570,512 1,614,000 N43,488
ORZFEE=SE X 1,570,512,000& 1,570,512
Al 583,001
- 987,511
CHHAOHE 2288 252 71,760 139,680 267,920
Al 32,292
- 39,468
307 gl2to| & 71,760 139,680 A\67,920
Al 32,292
- 39,468
11 AMISXAIEEX 71,760 139,680 A67,920
OUXHIIE R28Y 282
71,760,000 71,760
Al 32,292
- 39,468
O{2l01& 2IAI0F RSAEF(ER2EH|) X 1,639,200 1,416,600 222,600
Al 819,600
- 819,600
307 el2to| & 1,639,200 1,416,600 222,600
Al 819,600
- 819,600
1 AMISXAIEEX 1,639,200 1,416,600 222,600
ONEI0IE Bi5MI0F 2A4E=(223HI) X
1,639,200,000& 1,639,200
Al 819,600




SN BUESD
X EsAHIA 2
ol 250t € AKX (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 819,600
HEKASE0LS ZR0INRAIL 018 HAUSFE X 105,432 57,600 47,83
&
Al 43,930
- 61,502
307 glztol & 105,432 57,600 47,832
Al 43,930
- 61,502
1 AMEISXAEEXS 105,432 57,600 47,832
OBENASSOIS ILONAAL 01 7
== N 105,432,0002 105,432
Al 43,930
- 61,502
HEMASE0ts 158 22d4| XA 291,840 280,860 10,980
Al 145,920
- 145,920
307 elztol & 291,840 280,860 10,980
Al 145,920
T 145,920
11 AMEISXAIEEXE 291,840 280,860 10,980
OBFNASE0IS J%el ZRFY)
291,840,000& 291,840
Al 145,920
- 145,920
01201y 2= ots 258 X 346,640 268,800 77,840
Al 173,320
- 173,320
307 212+01& 346,640 268,800 77,840
Al 173,320
T 173,320
11 AMEISXAEEES 346,640 268,800 77,840
O0elold 2=0lots 258 A&
346,640,000 346,640
Al 173,320
- 173,320
020y A=0I0ts RFE2REESE 139,8%4 97,920 41,974
Al 53,391
- 86,503
307 212+01& 139,8%4 97,920 41,974
Al 53,391
T 86,503
11 AMEISXAEEES 139,894 97,920 41,974
ONglold 2=0i0ts RRREESR
139,894,000 139,8%4




SN BUESD
X EsAHIA 2
ol 250t € AKX (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 53,391
T 86,503
01201 2A=0I0tS 2toAl 22FH| 220,948 150,300 70,648
Al 110,474
- 110,474
307 gl2to| & 220,948 150,300 70,648
Al 110,474
- 110,474
11 ARRIS XA E X 220,948 150,300 70,648
O02l0lE 2=0I0tS 2t5H E2AH|
220,948,000 220,948
Al 110,474
- 110,474
AIHIESAEIA MSXE 344,624 366,000 A11,376
= 172,312
Al 86,156
- 86,156
307 glztol & 344,624 366,000 A11,376
= 172,312
Al 86,156
- 86,156
11 AMRISXAEEES 344,624 356,000 A11,376
OAIZHH 25 X 344,624,000 344,624
= 172,312
Al 86,156
- 86,156
EWUANE Al X& 13,861,244 12,541,632 1,319,612
= 8,316,746
Al 3,881,149
- 1,663,349
307 @120l & 13,861,244 12,541,632 1,319,612
= 8,316,746
Al 3,881,149
- 1,663,349
10 Al SXAAEEHE 22X 13,861,244 12,541,632 1,319,612
OO0 2l01& SAHAL 21|
13,861,244,000& 13,861,244
= 8,316,746
Al 3,881,149
- 1,663,349
Y00 248 X3 430,930 410,410 20,520
307 @20l & 430,930 410,410 20,520
10 AlRISXAZEE 22X 430,930 410,410 20,520




SN BUESD
X EsAHIA 2
ol 250t € AKX (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oo=78 02I01T 2gXa
430,930,000& 430,930
SSDAY HRML K (SEZnARIZH) 6,249,600 5,851,667 397,933
= 3,750,000
Al 1,749,900
- 749,700
307 elztol & 6,249,600 5,851,667 397,933
= 3,750,000
Al 1,749,900
- 749,700
10 AlRISTIAIEEE 22X 6,249,600 5,851,667 397,933
OOEI0IE 2X1WAF 0124H] XI&
6,249,600,000& 6,249,600
= 3,750,000
Al 1,749,900
- 749,700
S0 MRMHE KIS (A AL 383,312 253,312 130,000
= 191,656
Al 95,828
- 95,828
307 elztol & 383,312 253,312 130,000
= 191,656
Al 95,828
- 95,828
11 ARRIS XA E X 383,312 253,312 130,000
OSSN HRMHAXIZ (CHHM AL
383,312,000 383,312
= 191,656
Al 95,828
- 95,828
EFWA M2MEHl K& 4,287,963 2,851,922 1,436,041
Al 2,143,982
- 2,143,981
307 elztol & 4,287,963 2,851,922 1,436,041
Al 2,143,982
- 2,143,981
1 AMEISXAEEES 4,287,963 2,851,922 1,436,041
2RUAL XM 4,287,963,000& 4,287,963
Al 2,143,982
- 2,143,981
SN MM N (RAZSEZNHLE S) 3,780,303 3,624,330 155,973
= 2,268,182
Al 1,068,484
- 453,637




SN BUESD
X EsAHIA 2
ol 250t € AKX (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 3,780,303 3,624,330 185,973
= 2,268,182
Al 1,068,484
- 453,637
11 AMEISXAEEES 3,780,303 3,624,330 185,973
OUAIRZ RSN &H] 3,661,328,000& 3,661,328
= 2,196,797
Al 1,025,172
- 439,359
OuAMBHEE=E 118,975,000 118,975
= 71,385
Al 33,312
- 14,278
F20IX& g0l el el XI& 874,200 921,840 A47,640
Al 437,100
T 437,100
307 glztol & 874,200 921,840 A47,640
Al 437,100
- 437,100
11 AMEISXAEEXS 874,200 921,840 AN47,640
OF=0INE oelold xcld el2d N
874,200,000 874,200
Al 437,100
- 437,100
0ol FERdsa NE 1,246,175 1,266,915 N20,740
Al 747,705
- 498,470
307 lztol & 1,246,175 1,266,915 A20,740
Al 747,705
- 498,470
1 AMEISXAEEXS 1,246,175 1,266,915 N20,740
O0lRI01T HHRATA X2
1,246, 175,000 1,246,175
Al 747,705
- 498,470
OEl0lE SAHl A2X2ts XA (L0t) 273,240 0 273,240
Al 191,268
- 81,972
307 glztol & 273,240 0 273,240
Al 191,268
T 81,972
11 AMEISXAIEEE 273,240 0 273,240
OOelold SAHl AXtetst X (S0t
273,240,000 273,240




SN BUESD
M BFAMUIA =Y
el 250ls & AIEXIE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 191,268
T 81,972
O{glold SAHI AXt23at X (R0H) 360,255 0 360,255
Al 360,255
307 212+01& 360,255 0 360,255
Al 360,255
1 AMISXAIEEXS 360,255 0 360,255
OOIRIOIE SAIHI 22t X (K01
360,255,000 360,255
Al 360,255
Oelold =0t M EE It K& 45,194 45,644 2450
Al 22,597
- 22,597
307 21201 & 45,194 45,644 A450
Al 22,597
- 22,597
11 AMEISXAEEES 45,194 45,644 A450
O0elold ER0t AEEH Ity K&
45,194,000 45,194
Al 22,597
- 22,597
Oglold 2 X (WM -Hl) 186,736 147,458 9,278
= 94,001
Al 43,902
- 18,743
307 elztol & 156,736 147,458 9,278
= 94,091
Al 43,902
- 18,743
10 Al2ISTIAIEEE 22X 186,736 147,458 9,278
Oo0lglold 2 X (nHu-dl)
156,736,000 156,736
= 94,091
Al 43,902
- 18,743
olglold dtetyl X3 233,008 168,247 64,761
Al 116,504
- 116,504
307 el2tol & 233,008 168,247 64,761
Al 116,504
- 116,504
11 Al S XA 233,008 168,247 64,761
O0lglold dtdl XI&
233,008,000 233,008




SN BUESD
X EsAHIA 2
el ER0ls ® AlIEXIE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 116,504
T 116,504
ooy Ama=sdl A& 137,640 186,400 A\48,760
307 el2to| & 137,640 0 137,640
1 ABIZXIAEE 137,640 0 137,640
OORI0IE ARASH XIg
137,640,000 137,640
gizk- JFEOBI0lE edoedl XA 50,000 0 50,000
307 212+01& 50,000 0 50,000
11 AMRISXAEEES 50,000 0 50,000
oglzt - JtE0ielold stZEoHedl X
50,000,000 50,000
olzlold 2eldl X 18,000 18,000 0
307 elztol & 18,000 18,000
11 AMEISXAIEEES 18,000 18,000
Oo0lglold 22lgl X2 18,000,000& 18,000
338 0R0ld 2HI(HEALY) 941,516 956,418 14,902
Al 828,534
- 112,982
307 @I2t01 & 941,516 956,418 14,902
Al 828,534
- 112,982
11 AMEISXAEEES 941,516 956,418 A14,902
O33€ ooy X2 941,516,000 941,516
Al 828,534
T 112,982
38 0eloly 24l A& 197,920 197,920 0
307 el2to| & 197,920 197,920
1 AMEISXAIEEXS 197,920 197,920
Os&€ oelold 248l A&
197,920,000& 197,920
338 KEold xc2l& 2ladl XI& 205,606 194,646 10,960
Al 102,803
- 102,803
307 elztol & 205,606 194,646 10,960
Al 102,803
- 102,803
1 AMEISXAEEXS 205,606 194,646 10,960
OS¢ 02l0l¥ =cld el X
205,606,000 205,606
Al 102,803
- 102,803
SSEOE 0 2435 X (SKO0tEH 2l X) 37,886 48,600 10,714




SN BUESD
X EsAHIA 2
ol 250t € AKX (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 18,943
T 18,943
307 lztol & 37,886 48,600 10,714
Al 18,943
- 18,943
11 AMEISXAIEEXS 37,886 48,600 10,714
OBBEORI0IT BH3 NRA(S0HE 2
Bl X&) 37,886,000& 37,886
Al 18,943
- 18,943
SSEOS01E F2/UHd S& Had| 258,768 0 258,768
Al 129,384
- 129,384
307 elztol & 258,768 0 258,768
Al 129,384
- 129,384
1 AMEISXAEEES 258,768 0 258,768
OSEE0el0ld Felitd S& el
258,768,000 258,768
Al 129,384
- 129,384
QIMEOEI0IY 2EXE 1,062,704 1,104,928 N52,224
Al 530,352
- 522,352
307 glztol & 1,044,704 1,092,928 A48, 224
Al 522,352
- 522,352
11 AMEISXAEEE 1,044,704 1,092,928 NN48,224
OclEgNelold 28N
1,044,704,000& 1,044,704
Al 522,352
- 522,352
402 2I2FX=201H 8,000 12,000 24,000
Al 8,000
02 QI X2 AL E R (01X THE) 8,000 12,000 24,000
(OUFSE=HGISIVRS ISP Fala]
8,000,000 8,000
Al 8,000
S+ESANL(HLER) 22 252,520 281,310 A28,790
Al 126,260
- 126,260
307 @20l & 252,520 281,310 N28,790
Al 126,260
- 126,260




SN BUESD
X EsAHIA 2
ol 250t € AKX (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 ABI= XA X 252,520 281,310 128,790
OS+ESAE(HA2R)2Y N
252,520,000 252,520
Al 126,260
- 126,260
Zofot M2 wAL X 304,600 265,600 39,000
Al 152,300
- 152,300
307 212+01& 304,600 265,600 39,000
Al 162,300
- 152,300
11 AMEISXAEEE 304,600 265,600 39,000
OZ0jor M2 WAL XI&
304,600,000& 304,600
Al 152,300
- 162,300
SOISEANZHH =29 653,614 603,440 50,174
Al 15,000
- 638,614
307 212+01& 653,614 603,440 50,174
Al 15,000
- 638,614
05 2ItRIE =2 663,614 603,440 50,174
OF0Ise kA 29
653,614,000& 653,614
Al 15,000
- 638,614
SOISEXZEE 2 (RR20S)(HEA) 25,000 25,000 0
Al 18,750
- 6,250
307 @I2t01 & 25,000 25,000 0
Al 18,750
- 6,250
05 2IZtAE = 25,000 25,000 0
OS0tSEXN2dH f2u= 29
25,000,000 25,000
Al 18,750
- 6.250
0ot SEEF =22 ) =29 78,740 78,042 698
307 @20l & 78,740 78,042 698
05 git?(& = 78,740 78,042 698
OZ0iot SEES =022 08 23
78,740,000 78,740
IR0t FHZUOE 21 ¥ 2 841,548 748,326 93,222




A SMEFD
mE: BEAUIA S
ol 250t € AKX (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Al 398,889
- 442,659
307 212+01 A 841,548 748,326 93,222
Al 398,889
- 442,659
05 QIZtRIEIS 841,548 748,326 93,222
Ozgkd FHZEE 29X
797,778,000 797,778
Al 398,889
- 398,889
OZEEY FHZEE MEZ
43,770,000& 43,770
=00l &8 =Y X 51,900 51,900
201 2| 900 900
01 Ar22eltl 900 900
ORx=020l8 43N HE
30,0002 *3074 900
307 gI2Hol 51,000 51,000
1 ABIS XA EE 51,000 51,000
SH0RI0IE HF
51,000,000& 51,000
of2lold &ahH(elal) Tolots Melxlz X 7,200 7,200 0
307 QI2HO| & 7,200 7,200
05 DiZkelera 7,200 7,200
OOIRI0IE SHH(IA) TIEHoIE Al2IXIZ X
& 7,200,000& 7,200
F20IXE Helold oM 2Zdl XI& 153,600 295,200 A 141,600
Al 76,800
- 76,800
307 gI2tol ™ 153,600 295,200 A141,600
Al 76,800
- 76,800
11 Al SXAMEE X 153,600 295,200 A141,600
OFR0IXNAN0IE OMIEH 28| XI&A
153,600,000& 153,600
Al 76,800
- 76,800
Helold SsttA 38A AAotA K& 18,696 0 18,69%6
Al 18,696
301 LetENEZ 18,6%6 0 18,696
Al 18,696
01 A 2&AH 2 ([ REETR) 18,696 0 18,6%6
O0el0ld SeHA 3E A IAotMI K&
18,696,000 18,696




SN BAEST
mE: BEAUIA S
el 250ls & AIEXIE (SH9 H2)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
| | Al 18,6%
R0l Akt 1,812,400 1,814,400 A2,000
EFAA A5gsH N 864,000 864,000 0
307 212+0| & 864,000 864,000 0
1 ABIS XA EE 864,000 864,000 0
ORI APFSH 1
864,000,000& 864,000
S=FWAL OIOIAtE =S XI& 507,600 507,600 0
307 QI2H0l A 507,600 507,600
1 A =XAIEE X 507,600 507,600
OSSIA OHOIAE 4
507,600,000 507,600
SFWAL Fed=E X 270,000 270,000 0
307 gI2tol ™ 270,000 270,000
1 ABIS XA EE 270,000 270,000
OSSN A2+ X8
270,000,000& 270,000
EFKUWA 25T =2 N 165,600 165,600 0
307 QI2HOl A 165,600 165,600
" ASI=SXAIEEE 165,600 165,600
OEsuA 25 Hd+=<g X&
165,600,000& 165,600
EQREFWA ZAd+E XA 4,000 6,000 A2,000
307 gI2Hol ™ 4,000 6,000 A2,000
11 ARRISXAIEE X 4,000 6,000 A2,000
OEQESIA 2+g X8
4,000,000 4,000
SSXE gRF& 1,200 1,200
201 2Et2 & 1,200 1,200
01 ArR2eltl 1,200 1,200
ORgEsna 5& 30,0002 x40H 1,200
IHEFHEES X 1,040,782 975,606 65,176
= 28,356
Al 492,130
- 520,2%6
OOIAMEZBE AX| - 29 957,840 890,606 67,234
= 28,356
Al 464,742
- 464,742
307 2I2+0l ™ 927,960 790,726 137,234
= 28,35
Al 449,802
- 449,802




SN BUESD
X EsAHIA 2
&elr JIES0E-SXE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
05 2ItRIE = 927,960 790,726 137,234
OO0tOINEEH 28 XIE
927,960,000 927,960
= 28,356
Al 449,802
- 449,802
402 QI2F X201 & 29,880 29,880 0
Al 14,940
- 14,940
02 QIZHRHEAI 2% (01F TH ) 29,880 29,880 0
OBEH 243 Al X2
29,880,000 29,880
Al 14,940
- 14,940
HEF0EEs 28 X 82,942 85,000 2,058
Al 27,388
T 55,554
307 elzto| & 82,942 85,000 2,058
Al 27,388
- 55,554
05 212t =S 82,942 85,000 2,058
OJIE S04 22 X
46,942, 000& 46,942
Al 9,388
- 37,554
OJIEs0tgds 208 EgAg X
36,000,000& 36,000
Al 18,000
- 18,000
ooy XNx2tel 4,320 4,320 0
ool N=s8d 4,320 4,320 0
202 048l 4,320 4,320 0
NETET 4,320 4,320 0
OORI0IE NEEZ W SHOIH|
10,0003 42 122 +102] x90% 4,320
HH2IZJH(BLESL) 78,952 79,235 A283
IH2AH(EMESY) 47,113 47,3% A283
QIS NRAIL(SAESDY) 47,113 47,39% A283
101 @12A4H| 47,113 47,3% A283
03 SRA(RIH )22 U2+ 47,113 47,39%6 A283
OJlzs 2,547,080« 1H* 122 30,565
Oxl=22=¢
19,850 x 1 *20A1 2t 122 4,767




SN BAEST
M HAPAZH|(SLESD)
Cel: QIE2HH(SMES) (S & 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OfY22+g
19,8502 * 12 +8A| 2+ 123 1,907
OYHIAMHI 140,000& 122 1,680
OgZ =l 2,547,080 x22| x60fk 3,067
OXM =& Al 20,0002 #22 40
OUXRI4L
13,2303 * 12 +BA| 2+ 15& 1,589
oga+¢< 1,273,5402 %23 2,548
OEIZrts 80,000& *122 960
[EZH(EMESD) 31,839 31,839 0
JI2BHINSAIS (B2 31,839 31,839 0
201 Ler23 | 19,815 19,815 0
01 At22t2lt] 19,815 19,815 0
Oget=ZHI 54,5002 x17H 122 *90f% 10,023
O=EH| 8,000 x 172 +6Ax 12 9,792
202 048l 8,424 8,424
01 2L AL 8,424 8,424
OEF0HI 10,0003 » 1362« 12 9% 8,424
203 =] 3,600 3,600
M A2 ARFEI 3,600 3,600
ORNSgERF=AHI 300,000 * 122 3,600




H & 0l & AHS B Ml A

Rl MEHDIE +H 2 22 EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HAMF 29,990,676 30,381,832 A431,156
Al 1,374,091
- 28,576,585
o2 Zg & et 23,636,668 23,992,410 A305,742
Al 1,374,091
- 22,262,577
HEHIIZ A € 22 12,527,891 11,287,928 1,239,963
Al 708,708
T 11,819,183
SEHSE & HEHDISAEIS 2e 1,063,984 954,582 99,402
203 HR=H] 2,500 2,700 A200
03 A=A 2= 2,500 2,700 A200
OFAHME AIM =& 2,500,000& 2,500
206 M=l 941,627 849,740 91,887
01 M=4l 941,627 849,740 91,887
OsgNLesE X 793,3%, 0002 793,3%6
OJNEMBASE M 47,068,000 47,068
OUEHIISAEIA WA 65,340,000 65,340
OSEESF A 35,823,000 35,823
308 AXIHSO0IA 108,357 101,442 6,915
18 SIS B A A ALY 108,357 101,442 6,915
OSENSE 2A2IAME St HAEH
108,357,000& 108,357
403 AXIEHHS X201 1,500 700 800
02 I 2SOt etA=2E 2 S ALY 1,500 700 800
OSENSE 2AclAg SE A
1,500,000 1,500
IHEMNBHSE = Xl 996,374 998,898 N2,524
307 elztol & 939,954 970,898 230,944
05 212t =S 939,954 970,898 A30,944
OIIZAEHSE +=H*icltl
939,954,000 939,944
308 AFXIEMSOIE 56,420 28,000 28,420
14 JIEtRE3 56,420 28,000 28,420
OJIE A HERYS 56,420,000 56,420
HEHDIZ =8 - 28 Xel 4,133,575 4,080,466 53,109
207 ARl 33,000 0 33,000
01 H1E4H] 33,000 0 33,000
OUEHDIZ |t H7EY
33,000,000& 33,000
307 el2to| & 4,100,575 4,080,466 20,109
05 2I2+RIE =S 4,100,575 4,080,466 20,109




2A:

3 TE;;E*%* EUPN kel
ool MEEHDIZ £ ¥ 22 (crel: g)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OMEEDI2 +a - 2exel N (A=a)
4,100,575,000& 4,100,575
HEHIIZ =TSN & L2 Bl 2,728,398 2,438,448 289,950
308 AHAIEMSOIE 2,728,398 2,438,448 289,950
183 S| 2SO U ZB & HAEAIE 2,537,090 2,247,828 289,262
OMEBHIIS +CANYX L A2E gl
= 2,537,090
OMEHIIES =TAHMSA & A2rF BHY
S(AEY) 2,537,090,000& 2,537,090
14 IIEIR83 191,308 190,620 688
OdgHlI= M2FEs 191,308
OMHEHIIS HERLT(42)
130, 180,000& 130,180
O MBHIIZ HERLS(HE)
61,128,000 61,128
HemolE =H Xel 2,829,4% 2,387,941 441,554
201 er23| 900 900 0
01 At2teltl 900 900 0
O24SI HEHII=S(H=M) SNl
30,0003 *30& 900
307 @120l & 2,828,5% 2,387,041 441,554
05 git?(& = 2,828,5% 2,387,041 441,554
OUgmllZ =& - 2tH|
1,853,595,000& 1,853,595
OUEmIIZ HMelbl 975,000,000 975,000
Medl SAIHEE 2 7,287 3,852 3,435
201 et23| 7,287 3,852 3,435
01 AtR2telHl 1,989 1,452 537
OXdDl SAHetE A=
45,0002 42| 180
OXgD| SAIESE A3 2
26,5002 *10H 265
OXD| YA E oA otk FaH|
100,000 x2 & 200
OXD| YAIHEE RATAANAB2SH|
1,344,000& 1,344
02 s3=gHl 5,298 2,400 2,898
OMJ| YARET HIIQ3
80,000& * 122 960
oMl YAHEBY 4+E23
320,000 * 122 3,840
OAHZU && 2d &X 498,000 498
HEHII= 2clHiE S22 AE 25,920 22,720 3,200
Al 12,000
- 13,920
201 2= 25,920 22,720 3,200




i

—

-

FA B
33 Wil 28 & UHA
Chol: MEHIIS 2 ¥ 22 (e
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 12,000
= 13,920
01 Al22t2lH] 25,920 2,720 23,200
OUgeH S4xa BEE M
30,0002 44 120
OdEZHII=Z ZCIE 2t E2= M
1,800,000 1,800
OOtz M= WR 24,000,000 24,000
Al 12,000
- 12,000
HEHIIZ =8 - 28 AL X EIt 8,050 8,550 A500
301 EtE N = 8,050 8,550 A500
4 J|EtE A= 8,050 8,550 A500
OFUUSE H2TAIR AH|LA
100,000 7 & +5& 3,500
OSZEIIC AdIB4
50,0002 » 15«5 3,750
OR=+gH La= 800,000 800
HOIS ZE3tAE 42,500 42,500 0
201 Ler23| 22,500 22,500 0
01 At2teltl 22,500 22,500
OMEES ZcliiE & L2EF 2 82
= M= 2,500,000& 2,500
OCLI2IEI] MAE gd3t At
20,000,000 20,000
301 LEIE NS 20,000 20,000
4 IIEt2 8= 20,000 20,000
OSASFHII= 2EHHE QHEI2X
20,000,000& 20,000
HOISXeIAE AT 27 XA 696,708 349,971 346,737
Al 696,708
201 er23 | 139,210 9,000 130,210
Al 139,210
01 At 2|l 136,210 7,000 129,210
Olt=ed el 288 7Y
25,000,000 25,000
Al 25,000
O=cls=Hl 2g8=34|
100,000,000 100,000
Al 100,000
O=cls=Al =28 24|
11,210,000& 11,210
Al 11,210
02 S3=gHl 3,000 2,000 1,000




A BAEY
2

33 Wil 28 2 N
Rl MEHDIE +H 2 22 EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oltsetd 2|l doi=2s
3,000,000& 3,000
Al 3,000
301 EtEE S 481,498 340,971 140,527
Al 481,498
14 JIEt2a3 481,498 340,971 140,527
OnfgsaRRlol B#E4g
481,498,000 481,498
Al 481,498
405 AtaHE = 76,000 0 76,000
Al 76,000
01 ML ESFSHI 76,000 0 76,000
OL8 ABEFEAI| A =¥
38,000, 0002 =2CH 76,000
Al 76,000
MEHA RoHEIIIZS XM 5,600 0 5,600
201 Ler23| 4,400 0 4,400
01 At2teltl 4,400 0 4,400
Od&A =oliHll= Xl
4,400,000 4,400
405 AtatE=H 1,200 0 1,200
01 TR =SFISHI 1,200 0 1,200
Odg RoiHdls 22 J| 7Y
400,000 *3H 1,200
CAEE HEa 2l 514,937 751,79 N\236,862
r2ELEs 292,080 567,149 A275,069
201 er23| 287,080 264,649 22,431
01 At2teltl 47,101 47,149 A48
O33R 2eiacIAAE EHb|
480,000&  12& 5,760
Okzds7d A ES 36,841
0IIZEHAE FAES 22,701,000 22,701
oZ&0tA3 5003 %738 *30» 123 13,140
Okzdsx2d HE 5,500
oLZEEERA MHEHEE 9|
5,500,000 5,500
02 s3=gHl 239,979 217,500 22,479
OFAX BEZ2(H13]) 16,382
odSHAR 1,965,600 *5CH 9,828
o eat=xt 1,260,000 *2CH 2,520
o2t=xt 962,500 *2CH 1,925
o EAHIR 884,000 1CH 884
oAJ|E20 225,000 «1CH 225
O2dAEE= 30,0002 10~ 12 3,600




SN BABZD
B2 HOIS

Rl ZAEE HEA 2t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXtgrset] 121,986
odEHAX
1,640 1,050/ E+3CH* 122 61,992
0 EISEAXHCNG)
1,210 x1,052m" 20« 12 30,551
o et
1,640 2902 | & x2LCH+ 123 11,415
o2t=xt 1,640 #4352 | Ef 2CH+ 123 17,122
o AR 1,6402 36| Ef <101 122 709
oAJ|E2M 1,6403 10| EAx1CH* 123 197
OS2I(EZN) Hutdl
110,000 »30CH 3,300
O3AXtE 78I 94,111,000& 94,111
OFaS&=dl s=4bl 80,0002 *20K 1,600
405 KHAHE SH 5,000 300,000 295,000
01 Tt ESF=HI 5,000 300,000 295,000
OFA8&Ed 7Y 500,000& * 10H 5,000
o A SWE HMel(HEA 180,037 160,000 20,037
307 lztol & 180,037 160,000 20,037
05 2IMRIE =3 180,037 160,000 20,037
OHEAIHM el 180,037,000& 180,037
E2EE A 27,540 19,550 7,990
01 & 1,550 1,290 260
1 1,550 1,290 260
(OF=: 30,0003 *4& 120
OZHEAN S22 MA
130,000 +8& 1,040
o= M S SAHIE
78,0002 6% 390
301 EtE2 N = 22,750 16,750 7,000
4 IIEt2 8= 22,750 15,750 7,000
ok S22 ZUEAL RaS 22,750
0 A R4S
350,000& x10=+5 17,500
o JHEEIMA RHE
350,000 x5=+34 5,250
307 el2to| & 3,240 2,510 730
012z & 2=Hl 3,240 2,510 730
OIS HYES 3,240
CEREABLH S HIYFE
40,0002 73 2,920
ot E2EFSRA S HHES
,000+8H 320
20l 22&d e X3 15,280 5,100 10,180
201 eer23y| 16,280 5,100 10,180




2A:

Hasx)
33 Wil 28 2 N
Rl EAEE HE4A 2 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 12,880 2,700 10,180
Okzads22 |HES HHO0IH FAE+
all 300,000&*10H 3,000
CReEERa FHA =) 018= 6,360
o &) SU=E 20,0002 «10CH* 122 2,400
o M4 ety
6,600 *5IH* 1004 =% 123 3,960
O=zaFz22 JHS AH0IH Xt 3,520
oZIHIOIH &TH 275,000 6 1,650
od&I| N 220,000 «62 1,320
o ZHIOIH 4| 550,000 550
2 52434l 2,400 2,400 0
Okzeds22 JHS 2H0IH &L=
20,0002« 1074 = 12& 2,400
SEHEI S 2l 484,544 763,310 N278,766
SHSIIGNE e g5 NE 284,224 619,624 335,400
201 etz 3| 283,724 269,224 14,500
01 Al22:21H 8,744 8,744 0
OSce)| 3X HEE 28 7Y
8,384,000 8,384
OHJIE SLS)| g Qs oas oz
3t 7 90,0003 x4 360
02 S3=4gl 274,980 260,480 14,500
OHIISRYEI| IOV RAE+ ESF 51,500
o &EE CCIV 32,000,000& 32,000
o0ls€ CCTV 19,500,000 19,500
OHJIZ SHSI| CCIV Al &H|l |8
5,000,002 5,000
OSHE)| HAU28 FUE 0182
40,0002 123 480
OmPI= FEEI| CCV 120,000
oCCIV &JIR= 500,000& 122 6,000
oCCTV &E3ld AIZEZ 114,000,000 114,000
OHJIZ fHSI| CCIV 2LIHE 29
98,000,000 98,000
301 EtE NS 500 500
14 JEt2a s 500 500
ORHSIRD La= 50,0002 104 500
EYSI| Mol A Mel(E-HDII=2) 200,320 143,686 56,634
307 @I2t0| & 189,000 140,686 48,314
05 2ItRIE = 189,000 140,686 48,314
OSYSIIMYDI(ERTHIIZ) =AHHIH
189,000,000 189,000
308 AXIHSOIA 11,320 3,000 8,320




AaH
= 28 & A
eI 838 el (Gt H2)
M- B SRASH) - HRAR - B2 of v e HIDE2
B IIERg=s 11,320 3,000 8,320
O&gHll=E M2=2 a2t)
11,320,000& 11,320
=5 HYI=E A= 5,741,851 6,782,137 1,040,286
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= 18,375
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05 212t =S 26,250 29,142 A2,892
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26,250,000& 26,250
= 18,375
Al 3,937
- 3,938
ot&ot= M)l FatAte 22,000 22,000 0
= 5,940
Al 16,060
201 et 3| 200 200 0
= 54
Al 146
2 352484l 200 200 0
OHJIExM2RE= 200,000 200
= 54
Al 146
307 elzto| & 21,800 21,800 0
= 5,886
Al 15,914
05 git?(& = 21,800 21,800 0
Odtdot= SZEst At
21,800,000 21,800
= 5,886
Al 15,914
AY2LZH(SZEH D) 86,278 82,401 3,877
olH2d(SHE2A) 52,75 48,879 3,877
QA2 NSAI(EZEHL) 52,756 48,879 3,877
101 21AH| 52,756 48,879 3,877
03 SR (RIH )22 U2+ 52,756 48,879 3,877
O=sss&4d 22d 52,756
oJl22(2s3) 2,833,270« 18~ 12& 34,000
oAlZtIZRE
16,0003 *1.5¢15AI1 2+ 18123 4,320
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